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Phone:




Home: (562) 597-7287  I encourage you to call me at home with

your questions.  Try from 4:30-6:30 Monday/Wednesday and 1:30-6:30 all other days.  I don’t have a message machine.




Office: (562) 985-4711  I am not allowed to return your call from

                                                               my office. Call me at home.



Fax:     (562) 985-4979



e-mail: cdennis@csulb.edu  (Phoning me at home is much 



better than e-mail for asking and answering questions.  



Something I could tell you in 30 seconds would take 



much longer to type out.  Also, either through not 

                        
checking my messages or computer difficulties, I may 



not return your e-mail quickly enough to be useful. Call 



me at home.)

The Legislative Process


Should either the states or the federal government use vouchers to improve the quality of education?  How much, if anything, should government do to counter the increasingly unequal distribution of income?  These are just two of the multitude of questions which legislatures in the United States must answer every year.  

Since it would be impractical and/or impossible to have voters decide all of the questions legislatures must deal with, we use a representative system.  Thus, legislators represent us in both the U.S. Congress and state legislatures. 

How does the process of representation actually work?  How accurately do legislators represent the views of their constituents?  Who do legislators view as their constituency: all voters or just those likely to vote for the legislator?  How representative are the laws that legislators’ pass of public opinion?  What is the impact of interest groups on legislators and public policy?  How much power do chief executives, either the president or governors, have relative to legislatures over the content of legislation?   The purpose of this course is to answer such fundamental questions. 


In addition to covering the substantive topics of the legislative process, this course will also introduce you to various methods of statistical analysis.  Do not let that scare you!  No background in statistics is assumed.  Additionally, you will not need to memorize formulas, perform statistical homework assignments or need a calculator. The material in this coursepack contains all the information necessary to interpret the statistics we will use.  This will greatly help you in later life.  We live in an increasingly data oriented society.  You are likely to need to interpret statistical tables in your future career.  This course can be of significant help to you in this regard.


Your grade will be based upon three equally weighted factors: your cumulative score on a series of unannounced quizzes (less your three lowest quiz scores), your total points on the term paper, and a comprehensive final examination.  Missed quizzes are automatically dropped.  Thus, in order to be eligible for a make-up quiz, you would have to miss four quizzes (i.e., one more than the number dropped) and have a valid excuse for the fourth missed quiz.  Furthermore, in order to take a make-up quiz, you must notify me within one week after the quiz was given in class.  Examinations and quizzes will contain both essay and objective questions.  Any term paper turned in after the end of the class period on the date due will be lowered 10 points per day late.  Just so there is not a misunderstanding, term papers turned in later than the class period on the date due are considered one day late.  Excuses such as you forgot to bring the term paper to school or that your computer malfunctioned are not accepted.  Do not e-mail the paper.  If you give your term paper to someone else to turn in, you bear the responsibility.



I use a relative grading method.  Thus, your grade is determined by how well you score relative to other students.  For example, six out of ten points on a quiz is an excellent score if everyone else scores lower, but a poor score if everyone else scores higher.  The final grades in the course are geared to the average grade distribution for upper division political science courses (approximately 2.7 on a 4.0 scale).


The number and importance of the unannounced quizzes means that to be successful you need to both read the assignment by the date due and regularly attend class.  If you use your dropped quizzes to cover missed quizzes, this will likely force you to count quizzes you took, but scored low on.  As you will probably average one, or more quizzes per week, attendance and preparation are critical.


As I mentioned at the top of the syllabus, I encourage you to call me at home with your questions.  I will never make you feel foolish for having asked a question.  As one who has asked a seemingly infinite number of “foolish” questions, I under stand one’s reluctance to admit ignorance.  Furthermore, do not avoid calling me because you feel so confused you would not know what to ask.  Just call me at home and I can help you.  However, I can only help you if you give me the opportunity.  The best time to call are listed on the top of the previous page.
The required texts for the course are as follows:

(1) The Politics of Congressional Elections, 7th edition, by Gary C. 
Jacobson  (hereafter “Jacobson”); 

(2) Congress Reconsidered, 8th edition, by Lawrence C. Dodd and Bruce I. 

Oppenheimer (hereafter “D & O”)

Assignments

Please Note: Always bring the assigned book to class.  Additionally, always keep up with the dates below.  Even if class is cancelled, we will make the dates below.

Assignment 1 – Jacobson, pp. 1-61 due read by 9/8
Note: Read Statistical Primer I (immediately ahead) before reading pages 1-61 in Jacobson.  Let me mention that if you want to do the research parts of your term paper from home, you’ll need to have a CSULB computer account (i.e., csulb e-mail address, etc.) If you don’t already have one, go to Academic Computing  (Horn Building)  to setup an account.

One of the major goals of this course is that you learn how to read and interpret statistical tables.  In order to obtain a good grade in this course you need to understand a couple simple statistical operations.  No calculating or memorizing formulas.  All you need is the knowledge to interpret a couple very common and useful statistical techniques.  These tools are likely to be used both in other classes and your eventual career.  Potential quiz questions appear after Statistical Primer I.
Statisitcal Primer I
Page 33:  The purpose of the “swing ratio” (p. 33) is to tell us how many seats a party will gain in the House of Representative from a particular increase in the share of the popular vote the party receives in House elections (just keep reading – it gets easier).  For example, if the percentage of the seats in the House of Representatives held by the Democratic party increases from 45% to 55% (i.e., the number of seats held by Democrats increased from 195 –which is 45% of 435 – to 239 – which is 55% of 435),  while the Democratic percentage of the popular vote for the House of Representatives increases from 47% to 52%, the “swing ratio” would be 2 [the formula is the percentage change in seats divided by the percentage change in the vote, i.e., (55%-45%)/(52%-47%) = 10/5=2)].  Thus, the Democrats would be gaining 2% of the seats for each 1% increase in their percentage of the vote. The smaller the swing ratio, the less change there is in the party distribution of seats for a change in the vote.  Put another way, the smaller the swing ratio, the safer are incumbents (i.e., fewer of them lose if the vote changes).  In Table 3-2 on page 34, and the ensuing discussion, Jacobson uses the mean and the standard deviation.  The mean is the average.  Thus, if 6 students take a quiz and their scores are as follows:  2, 4, 4, 8, 8, 10, the mean is 6 [(2+4+4+8+8+10)/6 = 36/6=6). The standard deviation tells us how representative the mean is of all the scores (I know that doesn’t make sense, but keep going anyway).  In the preceding example, the mean of 6 could have resulted by 3 students each scoring 9 and 3 students each scoring 3 [(9+9+9+3+3+3)/6 = 36/6=6].  To avoid fixating on math, I’m going to omit the formula and computation for the standard deviation.  Rather, let’s focus on interpretation.  The smaller the standard deviation is relative to the mean, the more concentrated the scores are around the mean (I know that was rough but it gets easier).  Thus, if the mean is 6 and the standard deviation is 1, the standard deviation is only about 17% of the size of the mean (i.e., 1/6 is approximately 17% or 1 is approximately 17% of 6).  Alternatively, if the standard deviation had been 3, then the standard deviation would have been 50% of the size of the mean (i.e., 3 is 50% of 6).  So what?  Actually, that’s a big deal. For example, if I give a quiz and the mean is 7 and the standard deviation is 3.5 (i.e., 50% of the mean since 3.5 is 50% of 7), it is almost like I have two classes: one in which everyone is doing well and another in which everyone is doing poorly.  On the other hand, a class where the mean is 7 and the standard deviation is 1 would be a class where everyone was similar.  This matters to a teacher because it would impact on how they taught the class.  In Jacobson’s discussion, the significance is that the standard deviation in the vote for a particular congressman over time (i.e., for congressman “A,” who served from 1980-2000 and taking the 5 elections of the 1980s and calculating the mean vote for congressman “A” and then calculating the standard deviation of the vote for congressman “A” over those same 5 election and then repeating this process for the 1990s) has tended to increase (i.e., is higher in the 1970s, 1980s and 1990s than say the 1950s), which means that the vote for particular congressmen changes more from election to election.  Thus, incumbents are less “safe” (i.e., more likely to lose- keep reading).     

Page 34:  In the third paragraph on page 34, Jacobson uses the term “normally distributed.”  The normal distribution tells how scores distribute themselves in terms of the mean and standard deviation (read on – it will make sense).   A normal distribution has the following characteristics: First, the mean is in the middle of the distribution (following Jacobson’s example in the third paragraph on page 34 let’s set the mean at 55 - the average congressman received 55% of the vote in their last election); Third, 34% of the scores are between the mean and one standard deviation above the mean (thus if, following Jacobson’s example on page 34 we set the standard deviation at 5 and the percentage of the vote congressmen receive is normally distributed then 34% of the congressman received between 55% and 60% of the vote – i.e., 55% + 5% = 60%); Fourth, since a normal distribution is symmetrical (i.e., one side is identical to the other side) it follows that in this example 34% of the scores are between the mean and one standard deviation below the mean (i.e., 34% of the congressman received between 50% and 55% of the vote: 55% - 5% = 50%); Fifth, 13.5% of the scores are between one and two standard deviations above the mean (i.e., 13.5% of the congressmen received between 60% and 65% of the vote: 55% + 5% = 60% and 55% +5% +5% = 65%) while 13.5% of the scores are between one and two standard deviations below the mean (i.e., 13.5% of the congressmen received between 50% and 45% of the vote: 55%-5%=50% and 55%-5%-5%=45%); and Sixth, 2.5% of the scores are more than two standard deviations above the mean while 2.5% of the scores are more than two standard deviations below the mean (i.e., 2.5% of the congressman received greater than 65% of the vote while 2.5% received less than 45% of the vote: do it by subtraction, 34%+34%+13.5%+13.5%=95%; 100%-95%=5% with the 5% being equally divided between those two standard deviations, or more, above the mean and an equal number two standard deviations, or more, below the mean – hence 2.5% on each end).  Now, let’s apply this to the third paragraph on page 34.  Jacobson says, “This means that, other things equal, an incumbent with the average margin has about .84 chance of winning in the next election...”  If the average (mean) percentage of the vote for an incumbent congressman is 55% and the standard deviation is 5%, and, as mentioned previously, 34% of the scores are between the mean and one standard deviation below the mean it means that 84% of the scores are greater than one standard deviation below the mean [i.e., the 34% that are between the mean and one standard deviation below the mean (in this case between 50% and 55% of the vote) plus the 50% that are greater than the mean (in this case the 50% of congressmen that received 55%, or more, of the vote: 34%+50%=84%)].  Next, Jacobson tries the same calculation except that the mean increases from 55% to 60% (i.e., the average congressman receives 60% of the vote).  Since to get the incumbent “down” to 50% of the vote (the minimum they would need to win in a two candidate race), they would have to be two standard deviations below the mean (i.e., 60%-5%-5%=50%).  Since only about 2.5% of the scores are two, or more, standard deviations below the mean, then if the mean is 60%, the standard deviation is 5% and the scores are normally distributed, the congressman only has about a 2% chance of defeat (2.5% to be exact).  Finally, if the mean remains at 60%, but the standard deviation increases from 5% to 10% (see paragraphs 1-2 on page 34), then an incumbent congressman again has an 84% chance of winning their next election [since 34% of congressmen would receive between 50% and 60% of the vote (mean of 60%-standard deviation of 10%=50%: the minimum percentage necessary to win in a two candidate contest) and another 50% of congressmen would receive greater than 50% of the vote, the congressman has an 84% of winning (34%+50%=84%)].

Page 49: In the first paragraph of page 49, Jacobson uses the term “statistically significant.”  Let me explain statistical significance by way of an example.  Suppose you flip a fair coin 10 times.  We would expect that you would flip 5 heads and 5 tails.  However, there is only about a 25% chance this will occur.  Put another way, if you flip a fair coin 10 times, you have approximately a 25% chance of getting 5 heads and 5 tails and approximately a 75% chance of getting an unequal division of heads and tails (e.g., 6 heads and 4 tails, 6 tails and 4 heads, etc.).  The important point is that a sample (flipping a coin 10 times is taking 
a sample of 10 flips from the infinite number of times the coin could be flipped) can easily be unrepresentative of a population (i.e., the percentage of heads you receive in your 10 flip sample could easily be much different than the percentage of heads the coin would produce if it could be flipped an infinite number of times – or the “population” of flips).  In the first paragraph on page 49 Jacobson interprets Table 3-5 on page 48.  Part of what he says is as follows: “The variation across every row (except the first two) is statistically significant at p<0.001; the variation down every column is insignificant (p>.45).  What does this mean?  Let me explain.  Turn to page 48, Table 3-5 to the row to the right of “>1,000” (i.e., elections where the incumbent spent greater than $1,000,000 – remember the data are in thousands so 1,000 is actually 1,000,000).  Thus, 0.3, 4.5, 3.5, 11.2 and 27.4 (omit the average of 9.7). The number 0.3 means that if the challenger spends less than $200,000 (look at the number at the top of the column containing .3), they have only a 3 tenths of 1% (i.e., .3)  chance of winning (i.e., the challenger loses 99.7% of these contests).  That’s not a very high probability of winning!  (This is one reason I turned down the opportunity to work for a challenger in a local congressional campaign that had less than $200,000 to spend!) What Jacobson means when he says “statistically significant at p<.001” is that there is less than a 1 in 1,000 chance (i.e., <.001) that you would get numbers as different as 0.3, 4.5, 3.5, 11.2 and 27.4 if those numbers should actually be equal (e.g., all the entries in that row being 9.7 – the average - instead of the five noticeably different numbers across the row).  If the numbers going across the row were all the same (again, say 9.7) this would mean in contests where the incumbent spent greater than $1,000,000, increasing challenger spending (from say $200,000 to $600,000) would have no effect on the probability the challenger would win.  It is only if the numbers increase as you move from left to right across the row that increased challenger spending is increasing the probability the challenger will win.  The reason for the significance test is that if you find what Jacobson did (i.e., that the numbers do increase as you move across the row), then you are still left with the following question: Did the increase occur because that is how the world works or did the increase across the row occur because of sampling variation (i.e., like flipping 7 heads and 3 tails in a sample of 10 flips of a fair coin - which we would have expected to come out 5 heads and 5 tails - just keep going, you’re almost home).  Put another way, suppose you flipped what you thought was a fair coin 10 times and got 10 heads.  The probability that fair coin would come up heads 10 times out of 10 is less than 1 in 1,000.  So, what would you conclude?  I’d conclude that the coin probably wasn’t fair.  That’s what Jacobson concludes.  If there is less than a 1 in 1,000 chance that the five numbers in the row would be that different, if the truth was they were actually all the same, then he is going to conclude they are not all the same and that increased challenger spending, in contests where the incumbent spends $1,000,000 or more, increases the probability the challenger will win.  When Jacobson says that “the variation down every column is insignificant (p>.45 – last sentence top paragraph of page 49)” he means that the difference between the numbers going down the columns are so small that there is greater than a 5% chance that we could have obtained numbers as different as those reported down a particular column when, in truth, all the numbers should be the same.  For example, going down the column under “200-400” in Table 3-5 on page 48 you find the following: 0.0, 0.0, 4.7, 2.1, 5.5 and 4.5 (omit the column average of 3.9).  The differences between those numbers are so small that we cannot plausibly rule out the notion that, if the truth be known, they would all be identical.  Thus, there is greater than a 5% chance that there is actually no difference in the column numbers I just mentioned.  The reported differences would merely be the function of sampling variation (i.e., remember that 75% of the time a fair coin flipped 10 times will result in an outcome other than 5 heads and 5 tails).
Potential quiz questions include: Concerning redistricting, what is the conflict between the electoral goal of a political party and the electoral goal of incumbent House members of that same party? (8: the party wants to maximize seats – which means winning more seats by smaller margins – while incumbents of that same party desire electoral safety – which increases their personal vote share but reduces the number of seats the party would hold) After the 2002 redistricting, how many truly competitive House seats did California have? (11: none) Why would Republican congressmen support creating minority-majority districts when such districts are almost certain to elect a Democrat to Congress? (14: because it increases the total number of Republican districts by concentrating Democrats lopsidedly into a smaller number of districts – i.e., it is a pro-Republican gerrymander)   What is a “marginal district”?  (32: districts that could elect a candidate from either party – typically defined as a district where the incumbent won with 60%, or less, of the vote) Why do some argue that the “marginals are vanishing”?  (33:  Figure 3-4 – because a greater percentage of Congressmen win with 60%, or more, of the vote than did in the 1940s, 1950s and the early 1960s – although it varies, the basic pattern is “up” over the past 60 years) If the average incumbent’s share of the vote either remained the same, or increased, why might incumbents actually be less secure?  (You would think that the greater the share of the vote the average incumbent received, the more secure they would be.) (pp. 32-35: the variance increased more than the mean which increases the chance that a given incumbent will lose at some point over a series of elections)  What does Jacobson think of Fiorina’s view of the electoral value of constituency service?  (39-40: not that strong – 1 - casework not necessarily that highly correlated with vote margin; 2 – despite all the opportunities for pork, casework, etc., electoral security didn’t really increase until the late 1980s – long after incumbents had tried all these approaches; 3 – some evidence that pork helps Democrats; 4 – although first terms become more secure more quickly today than they did many years ago – but his doesn’t extend to more senior members being more secure) What does Jacobson mean when he says that campaign contributors act “strategically”? (42-45: they don’t contribute much to “certain” losers – but still contribute to “certain” winners – to obtain access/influence) According to Cox and Katz, what is the most important reason the incumbency advantage has tended to increase over the past several decades? (44: quality effects - because the difference in the electoral performance of experienced and inexperienced candidates grew – this was greater than either resource differences or the ability to scare-off potential opponents) According to Jacobson, roughly how much does a challenger need to spend to at least “make a race” of the election? (47:  $800,000) Why is money more important to challengers than incumbents? (50-51: because, typically, the challenger is less well known than the incumbent) If an incumbent wins with a lower than normal percentage of the vote, what is the likely impact on the quality of their next challenger?  (51: they typically face a higher quality challenger the next election) What does Jacobson mean by “the expansionist phase”?  (52: the congressman tries to increase their base of support in the district) 
Assignment 2 – Jacobson, pp. 63-112 due read by 9/15
Please Note: Read Statistical Primer II before reading pages 63-112.  Potential quiz questions follow the statistical material.

Statistical Primer II
Page 99: In Table 4-4 on page 99, Jacobson uses a statistical technique called regression.  Jacobson is trying to find how much challenger spending influences incumbent spending.  The hypothesis is that the more money the challenger spends, the more money the incumbent spends.  Since challenger spending is suppose to influence incumbent spending (not incumbent spending influencing challenger spending), challenger spending is the independent variable and incumbent spending is the dependent variable.   Put another way, incumbent spending depends on challenger spending, not the reverse.  Since increased challenger spending is expected to result in increased incumbent spending, the hypothesis posits a positive relationship between challenger spending and incumbent spending (i.e., higher scores on challenger spending are expected to be associated with higher scores on incumbent spending).  Alternatively, if increased challenger spending was expected to result in decreased incumbent spending, then we would have expected a negative relationship between challenger spending and incumbent spending (i.e., higher scores on challenger spending would have been expected to be associated with lower scores on incumbent spending).  Jacobson clearly expects, and finds, a positive relationship between challenger spending and incumbent spending.  Now, let’s turn to Table 4-4 on page 99.  As Jacobson mentions in the third paragraph on page 98, he has adjusted all of the spending data to account for inflation (i.e., so that a dollar in 1972 has the same value as a dollar in 2006).  Additionally, note in the “note” below Table 4-4 on page 99 that Jacobson says the data are in thousands of dollars. Thus, if the computer reads a score of “1” it means that the candidate has spent $1,000 (not $1) on their campaign.  Now, let’s take the results in Table 4-4 for the year 1972.  We have data on 319 contested House races (i.e., the number of cases is 319).  Additionally, the “intercept” is 158.0 (read on!).  What this means is that if the challenger spent $0 (i.e., the score on the independent variable was 0, which in this case means the challenger spent $0), the incumbent would, on average, spend $158,000 (remember, the data are in thousands of dollars so a score of 158.0 is actually $158,000). The intercept is named for the point where the regression line (which represents how much incumbent spending responds to challenger spending) “intercepts” (hence the name intercept) the “y axis” (the y axis represents the scores on the dependent variable, in this case thousands of dollars of incumbent spending – the discussion and diagram ahead will make this clear, so, just keep going).  Moving to the right in Table 4-4, the next number is 14.8.  To avoid a long discussion, let me explain it as follows: if 158.0 is at least twice the size of 14.8 (which it obviously is) then there is less than a 5% chance that the “true” value of the intercept (which we will never know but are trying to estimate) is really $0 when the regression estimated it to be $158.0.  Thus, the intercept is “statistically significant” or significantly different than $0.  This is important because if the intercept where actually $0 this would mean the incumbents had no built in spending advantage (i.e., if the challenger spent $0 then the incumbent would also be expected to spend $0).   Since, the estimate of the intercept is 158.0 (i.e., $158,000), this means that the average incumbent has quite an advantage.  Moving to the right, we can see that the next number is .56.  This is the slope of the regression line representing the relationship between challenger spending and incumbent spending.  The regression coefficient of .56 can be interpreted as follows: for each dollar the challenger spends, on average, the incumbent increases their spending by 56 cents.  The regression coefficient is always in the units of the dependent variable (in this case incumbent spending, which is measured in thousands of dollars – again, a score of 1 means the incumbent has spent $1,000).  Since both challenger spending (the independent variable) and incumbent spending (the dependent variable) are measured in the same metric (i.e., thousands of dollars) we can make the interpretation I just did: for every $1 the challenger spends, on average, the incumbent will spend an additional 56 cents.  Note that if the relationship had been “negative” (i.e., higher challenger spending being associated with lower incumbent spending), then the coefficient would have had a “minus” sign in front of it (e.g., -.56).  Since the incumbent is only responding by spending 56 cents for each dollar the challenger is spending, you might think the incumbent is being outspent by the challenger.  That typically is not true.  For example, let’s say that in 1972 a challenger spent $120,000 (which for that time period was rather high).  From the intercept, we already know that this challenger would likely be outspent by the incumbent because even if the typical challenger spent nothing, the average incumbent would spend $158,000.   Additionally, we know that for each dollar the challenger spends, the incumbent, on average, will spend an additional 56 cents.  So, if the challenger spends $120,000, they will face an incumbent who is likely to spend approximately $225,200 [158,000 + (.56) (120,000) = 158,000 + 67,200 = 225.2].  Again, moving to the right in row 1 of Table 4-4, the next number is .04.  Like the 14.8 next to the intercept, the .04 is interpreted in relationship to the regression coefficient (i.e., .56).  Again, it translates into the following: if .56 is at least twice the size of .04 (which is obviously the case) then there is less than a 5% chance that the “true” value of the regression coefficient is .00 (as opposed to the .56 that is estimated).  This is important.  If the actual value of the regression coefficient were .00 it would mean that for each dollar the challenger spent, the incumbent would respond by spending nothing.  While that is possible, it is extremely unlikely given that .56 is so much greater than .04.  I used the 5% threshold previously because that is the one that political scientists typically employ.  Since .56 is 14 times the size of .04, there is actually less than a 1 in 1,000 chance that we would have found a value for the regression coefficient as large as .56 when the “true” value (which we will never actually know) is .00.  Thus, while it is possible that incumbents do not respond to challenger spending, it is extremely unlikely.  The last number in row 1 of Table 4-4 is .34.  This term is called R2 (read “R squared” – see the character above .34 in Table 4-4).  What R2 tells us is the percentage of the variation in the dependent variable that is explained by all the independent variables (in this case there is only one independent variable, challenger spending – just keep going, it will make sense after several more sentences).  Since not all incumbents spend the same amount of money, incumbent spending is a variable and not a constant.  What we are trying to do is explain why some incumbents spend more money than other incumbents.  According to the logic of our model, the reason some incumbents spend more money than other incumbents is that their challengers spent more money than other challengers.  The .34 means that of all the variation in incumbent spending (i.e., the difference between one incumbent spending $400,000 and another incumbent spending $700,000 – hence variation), 34 percent of it can be explained by variation in challenger spending (i.e., one challenger may spend $100,000 while another challenger spends $600,000, thus “variation” in challenger spending).  Obviously, if 34% of the variation in incumbent spending is explained by challenger spending, it also means that 66% of the variation in incumbent spending is not explained by variation in challenger spending.  If we added other independent variables (such as incumbent wealth, wealth of the congressional district, etc.) we could probably explain more than 34% of the variation in incumbent spending.  It is also important to note that if we had other independent variables, the value of the regression coefficient (.56), would probably change.  This is one of the reasons we typically prefer to use all of the independent variables that theory suggests should be important: we will probably find somewhat different impacts (i.e., such as .56) than if we just use one independent variable at a time.  Now you have all the information necessary to follow Jacobson’s discussion.  

Potential quiz questions include: Why did the number of PACs increase so much over the 1974-2006 period? (67: because the PAC contribution limits did not increase proportionate to inflation – were actually fixed in nominal dollars - and campaign costs did increase greatly so candidates needed contributions from more different PACs than if the contribution limits had been indexed for inflation) How have contributions from corporate PACs to Democratic candidates for the House changed over the 1978--2006 period? (Make sure you can read the appropriate diagram to answer this question.  A quiz may very well ask you to do so.) (70: got noticeably lower after 1994)  Why? (72: if the electoral situation is evenly balance between the parties/candidates, business will follow it philosophical heart and contribute more to Republicans.  When the Republicans are in control – i.e., after 1994 – this only enhances business contributions to them – i.e., both ideology and political expediency then favor contributing to the Republicans) How do political parties circumvent the limits on how much they can contribute to their own candidates? (76: by a Federal Elections Commission –i.e., FECA that allows parties to spend money “on behalf” of congressional candidates – such spending is limited, but the limits are higher than for direct contribution and are also indexed for inflation) Why did Jim Leach want the Republican party to stop running ads on his behalf? (79-80: he wanted to project a more moderate image than the party ads suggested – it was a moderate district where Gore did well) How successful were Leach’s requests for the Republican party to stop running ads on his behalf? (79-80: not very – the Republican party kept running ads and were probably responsible for Leach winning reelection) Are congressional campaigns becoming more “candidate-centered” or more “party-centered”?  (80: party centered – party role has increased but the campaign is still more candidate-centered than party-centered)  In general, is campaign money available late in the campaign put to better use than money available early in the campaign?  (84: no, early money is put to better use – early money is the “seed” money for the campaign – used to organize, plan and raise still more money) What is the most efficient way for campaign to reach voters? (89: no one really knows)  Typically, do Senate or House campaigns use media money more efficiently? (90: Senate campaigns - because House districts are often only a fraction of a television market so House members often are spending much money to reach people who aren’t in their district) Typically, are issues, policy and partisanship more emphasized by incumbents or challengers? (94-97: challengers)  According to campaign professionals, is “positive” or “negative” advertising more effective?  (95: negative advertising) Why? (95: although people claim to dislike negative ads, they remember them more than positive ads – i.e., positive ads must be repeated more often in order to have the same impact)  Currently, which of the following approaches are incumbents more likely to use: ignore personal attacks by the challenger and run “above politics” or launch preemptive attacks on the challenger’s character and credibility? (99: launch preemptive attacks on the challenger’s character and credibility)  Typically, are House or Senate campaigns more competitive (101-102: Senate) Over the past decade, or so, have resources in Congressional campaigns been more widely distributed over a greater number of districts or states, or more highly concentrated in fewer districts/states? (104: more concentrated in fewer districts/states)      

Assignment 3 – Jacobson, pp. 113-153 due read by 9/22
Please Note: Read Statistical Primer III before reading pp. 113-153. Potential quiz questions appear after Statistical Primer III.

Statistical Primer III
Page 132: Read Jacobson’s discussion of probit analysis (bottom page 130- top half of page 131) and then continue with the next sentence of Statistical Primer III. On page 132, Table 5-6 (which uses information from page 131), as well as several other tables through page 137, Jacobson uses a statistical technique called “probit.”  The only reason that Jacobson does not use regression is that the dependent variable (what we are trying to explain – in this case why some voters can recall the challenger’s name and other voters cannot) has only two categories of responses (i.e., either the voter can recall the challenger’s name, coded as a score of “1,” or the voter can not recall the challenger’s name, coded as a score of “0” – see Table 5-5, page 131).  Make sure you familiarize yourself with the coding scheme Jacobson uses on page 131.  A quiz may well contain the results in Table 5-6.  If you don’t know the coding scheme for the variables, you won’t be able to answer the questions.  The coding scheme is easy to follow, but you do need to look at it in order to understand how the probit results are interpreted. When you are trying to estimate the impact of one, or more, independent variables on the dependent variable and the dependent variable has many categories of responses (typically 6, or more), regression is the appropriate statistical technique.  When Jacobson used regression (page 99), the dependent variable was the amount of money, in thousands of dollars, spent by the incumbent.  Such a variable would have many possible scores ($200,000, $200,100, $200,200, etc.). When you are trying to estimate the impact of one, or more, independent variables on the dependent variable and the dependent variable has a small number of categories of responses (typically between 2 and 5), probit is the appropriate statistical technique.  In column #1 of the top-half of Table 5-6 on page 132, you’ll see numbers such as –1.53, .42 (there is a typographical error in the book – it should be .42, not 42), .25, 1.03 and .47.  With the exception of –1.53 (which is the “intercept” – recall from regression that this is point where the line “intercepts” the y axis), all the other numbers in the top half of column 1 (i.e., .42, .25, 1.03, and .47) represent the effect of a change in one of the independent variables (personal, mail, mass media and indirect) on whether or not the voter could recall the name of the challenger in the House election in their congressional district. Coefficients in probit (.42, .25, 1.03, and .47) are more difficult to interpret than in regression.  For example, the coefficient for “personal” (.42 – again, .42, not 42) cannot be interpreted to mean that if the score on “personal” increased from “0” (meaning the voter did not met the challenger, did not attend a meeting where the challenger spoke, nor had any contact with the challenger’s staff – see Table 5-5 on page 131), to “1” (the voter did at least one of the following: met the challenger, attended a meeting where the challenger spoke, or had contact with a member of the challenger’s staff) and the scores on all the other independent variables remained the same (i.e., for example, the voter scored “1” on mail and continued to score “1” on mail, “0” on mass media and continued to score “0” on mass media, and “1” on indirect and continued to score “1” on indirect – thus, the only change being that the voter now scored “1,” instead of “0” on “personal”) then the probability the voter could recall the challenger’s name increased by  42%.  Again, you cannot interpret probit coefficients in such a straightforward manner.  This is why Jacobson calculated Table 5-7 on the upper half of page 133.  The results in Table 5-6 are what are used to generate the more easily interpretable numbers in Table 5-7.  For example, the .25 for “personal” in column 1 of Table 5-7 means that if the voter scored “1” on “personal” (the voter has done at least one of the following: met the challenger, heard the challenger speak or met a member of the challenger’s staff) and has scored “0” on all the other independent variables (i.e., the voter did not receive mail from the challenger, has not seen a commercial for the challenger or read about the challenger in the newspaper, and does not have friends or family who have had contact with the challenger) then the voter has a 25% chance of recalling the challenger’s name.  While, probit coefficients do not have the same direct interpretation as regression coefficients, there are many similarities.  For example, the sign of the coefficient tells the direction of the relationship (just keep going).  Therefore, the .42 coefficient for “personal” in the top half of column 1 in Table 5-6 on page 132 (again, .42 not 42) means (since it is .42, not -.42), that the higher the score on personal (i.e., “1” is a higher score than “0”), the higher the score on the dependent variable.  Thus, if the voter had some form of contact with either the challenger or the challenger’s staff (i.e., scored “1” on personal) they were more likely to recall the challenger’s name (i.e., scored “1” on recall – which meant the respondent could recall the challenger’s name) than if the voter had no contact with either the challenger or the challenger’s staff (scored “0” on personal) because the coefficient for personal is .42 and not -.42.   Additionally, the number immediately to the right of the coefficient (e.g., the .21 immediately to the right of .42), when compared to the coefficient value will tell us how significant the results are (just keep going).  Since .42 is at least twice the absolute value of .21 (.42 is exactly twice the size of .21), there is less than a 5% chance that “personal” has no effect on the dependent variable (i.e., less than a 5% chance that voter contact with the challenger has no effect on the probability that the voter can recall the challenger’s name).  Notice that the effect of “mail” (.25) is statistically insignificant (keep going).  Thus, since .25 is less than twice the absolute value of .14, there is greater than a 5% chance that receiving mail from the challenger has no effect on the probability that the voter will recall the challenger’s name.  Typically, if there is greater than a 5% chance that the independent variable has no effect on the dependent variable, we consider the relationship statistically insignificant.

Potential quiz questions include: Why should we have expected turnout to  increase from the 1950s to the 1970s? (114: because the level of education was increasing) Why is the relationship between education and turnout weaker in most European nations than in the U.S.? (115: because the populism of left-wing parties increases the turnout among the less well-educated) Who is over-represented in the electorate? (115: better educated, wealthier, higher status, and older people) Who tends to be harmed when voters defect from their party in congressional elections? (120: challengers – “defectors” are typically a voter in the challenger’s party who votes for the incumbent instead) What does Jacobson think of the argument that incumbents do so well in House elections because voters are more likely to recall the incumbent’s name? (122: not that much – while incumbents are comparatively better known than challengers, this advantage has declined so what over time; 2 – voters favor incumbents even when they cannot recall either candidate’s name) What is the relationship between the voter’s knowledge of a candidate and the likelihood that they will vote for the candidate?  (125: positive – typically, the more familiar voters are with a candidate, the more likely they are to vote for him, with the effect also depending, symmetrically on the degree of familiarity with the other candidate) What type of contact with voters is most likely to affect a voter’s knowledge of a congressional candidate?  (129-132: typically, through the mass media) Is incumbency, or candidate familiarity, the more important factor in House elections? (136-137: candidate familiarity – if both incumbency and familiarity are in the same equation, familiarity has the much greater effect in explaining vote choice – a good deal of the impact of incumbency on the vote is indirect – through candidate familiarity)  Since 1978, how has the ratio of personal to ideological/policy comments about House candidates changed?  (142: ideological/policy comments grew in relation to personal comments) What is the importance of such a change? (142-143: harms incumbents – policy/ideology are much more controversial than constituency service/personal aspects – means that a national tide against a party or ideology are more likely to result in the defeat of an incumbent) Did attitudes toward the Iraq War have a large impact on the 2006 congressional vote? (147: yes)  What was the “indirect” effect of the Iraq War on the congressional vote? (148: lowered the evaluation of President Bush and congressional incumbents – Bush’s popularity negatively impacted Republican congressmen)
Assignment 4 – Jacobson, pp. 155-230 due read by 9/29
As before, read Statistical Primer IV before reading pages 155-230.

Potential quiz questions appear after Statistical Primer IV.
Statistical Primer IV
Page 160: In Table 6-2, page 160, Jacobson uses multiple regression.  This is very similar to the form of regression (bivariate – “bi” as in two: two variables, one independent variable and the dependent variable) Jacobson used on page 99.  The difference is that in Table 6-2, Jacobson has multiple (i.e., more than one) independent variables: exposure (the share of seats the party holds above, or below, its average over the past eight elections), percentage change in real income per capita (meaning that Jacobson has adjusted the income data for inflation and calculated the change on a per person basis), and the percentage of eligible voters who approve of the job the president is doing.  Now, let’s interpret the coefficients in Table 6-2 (i.e., -.75, 1.29, and .25 – we will omit the intercept of –17.34).  Note from the “note”  (couldn’t resist that one) in Table 6-2 that the dependent variable is the percentage of seats gained or lost by the president’s party. The  -.75 coefficient for “exposure” can be interpreted as follows: if the scores on the other two independent variables remain the same (e.g., real income per capita was increasing by 1% per year and continued to increase by this same amount and 55% of the public approves of the job the president is doing and this remains at 55%), for each 1% of the seats that the president’s party holds above its average of the past eight elections (e.g., the president’s typically held 57% of the House seats but now holds 58% i.e., 1% above its average), then the president’s party will lose (remember the coefficient is negative, -.75 and not .75), on average, approximately .8% (eight-tenths of 1%) of its seats.  Since, -.75 is at least twice the absolute value of .11 (.11 is the number to the right of -.75: -.75/.11 = -6.8 which is obviously greater than +/- 2.0) then there is less than a 5% chance that “exposure” has no effect on the share of seats that the president’s party will gain or lose (i.e., “exposure” has a statistically significant impact on the share of seats held by the president’s party). The coefficient for change in real income per capita (1.29) is interpreted as follows: if “exposure” and presidential approval remain constant (i.e., the president’s party holds 1% more seats than it typically does and it continues to hold this 1% greater number and 55% of the public approves of the job the president is doing and this figure remains at 55%), but the change in real income increases from 1% to 2%, then, on average, the percentage of seats the president’s party holds in the House will increase by 1.29%.  Since 1.29 is at least twice the size of .31 (.31 is immediately to the right of 1.29: 1.29/.31 = 4.16 which is greater than +/- 2.0), there is less than a 5% chance that change in real income per capita has no effect on the share of seats the president’s party will have after the election.  Finally, if the scores on exposure and change in real per capita income remain the same (hopefully the two previous examples are clear and I don’t need make all these same statements again!), for each one percentage point increase in the president’s popularity, on average, the president’s party will gain ¼ of 1% (i.e., about a “quarter of a percentage point”) increase in their percentage of House seats.  Since .25 is greater than twice the size of .06, there is less than a 5% chance that the president’s popularity has no effect on the percentage of House seat’s her/his party will have as a result of the election.  The adjusted R2 of .70 means that variation in “exposure” (remember the president’s party does not always begin the election in the same condition – sometimes it might be 3% below its typical share of seats and other times it might be 2% above its typical share of seats – hence “exposure” is a variable, i.e., it has variation), percentage change in real income per capita and presidential approval explain approximately 70% of the variation in the share of seats the president’s party will have after the election.  To be judgmental, explaining 70% of the variation is rather high.  Thus, our model is working well.  Don’t be concerned about the interpretation of either the intercept (-17.34) or the Durbin-Watson Statistic.

Page 163: In the last paragraph on page 163, Jacobson uses a correlation coefficient, .86, to describe the relationship between a voter voting for the same party for President and the House of Representatives in 1952.  Correlation tells us the direction (positive or negative) and strength of a relationship (keep going, it will become clearer).  For example, since the correlation between House and presidential vote was .86 in 1952, it means that if you voted Democratic for President in 1952 you were very likely to vote Democratic for the House in 1952. Had the correlation been -.86, it would have meant that if you voted Democratic for President, you were very likely to vote Republican for Congress (i.e., that voter’s were purposely trying to produce divided government – one party controlling the presidency with the other party controlling Congress).  As correlation can only assume values between +1.0 (strongest possible positive association) to –1.0 (strongest possible negative association with a correlation of .00 meaning no association), .86 is quite strong (it is 86% as strong as it could have been).  The following thresholds are useful in interpreting the strength of correlation coefficients: +/- .70 or greater: very strong; +/- .50-.69, strong; +/- .25-.49, moderate; +/- .01-.24, weak; .00, no association (note that .50 and –.50 have the same degree of strength, only their direction changes – thus, .50 means higher scores on one variable are strongly associated with higher scores on the other variable while -.50 means that higher scores on one variable are strongly associated with lower scores on the other variable).  While correlation is useful, it does not tell you how much one variable affects another variable (it will become clearer).  For example, do not interpret the .86 correlation to mean that if you voted Democratic for President you had an 86% probability of voting Democratic for the House in 1952.  Correlation does not tell you such information.  What you can say is that a .86 correlation indicates that a person who votes Democratic for President is more likely to vote Democratic for Congress than someone who votes Republican for President.  However, you cannot say how much more likely.  Regression and probit could be interpreted to tell you how much more likely, but not correlation.  This is a real limitation of correlation and why measures such as correlation (typically referred to as “measures of association”) are not as frequently used by political scientists today as 30 years ago.  However, since Jacobson wants to find out how strongly two variables are associated (as opposed to showing how much one variable changes as the other variable changes), correlation is the proper technique.  

Potential quiz questions include: What does Jacobson think is the effect of national economic conditions on House elections in aggregate studies? (159-161: large effect) When you examine survey data for individual voters, is the impact of economic conditions on congressional voting typically more or less than in aggregate studies? (161: less - the behavior of individual voters does not conform to any straightforward model of economic rationality)   On page 168, Jacobson says that “It is entirely possible for national conditions, personalities, and issues to affect congressional election results without directly impinging on individual voters at all.”   How does this occur?  (168-170: quality challengers for a party more appear when economic conditions are favorable for that party – i.e., when it looks like a “Democratic year” better Democratic candidates run, are better funded, and are more successful.) If I place Tables 6-4 and 6-5 on pages 171-172 on a quiz, could you interpret the results?  If not, review Statistical Primer IV.  I value your ability to interpret tables.  According to Jacobson’s results, what affects the quality of challengers in House elections?  (171: both economic conditions and the level of public approval for the president have a large and significant impact on the quality of Democratic challengers.  Neither matters to Republicans, who are sensitive only to the opportunities offered by the current Democratic strength in the house – i.e., exposure) What was the impact of the House Bank scandal?  (178-179: contributed greatly to turnover in the House due to both retirements and defeats) Why?  (179: because individual members of the House could be held accountable for their overdrafts - unlike policy failures, which could always be blamed on Congress as a whole) Did the results of the 1994 congressional elections support or not support the notion that “all politics are local”?  (182: not support) Why?  (182-185: Republicans succeeded in framing the local choice in national terms, making taxes, social discipline, big government, and the Clinton presidency the dominant issues) What impact did the Monica Lewinsky scandal have on the 1998 congressional elections? (192-197: little effect) Why? (192-197: because the scandal broke after potential candidates had made their decisions about running.  Because potential candidates in both parties were uncertain as to the impact of the scandal, they tended not to enter.  Each party fielded a weak group of challengers, thus, little partisan change) According to Jacobson, how was the 2000 Republican House campaign different than the 1994 Republican House campaign? (199: in 1994 Republicans campaigned as a team supporting a common program whereas in 2000 the pursued just the opposite strategy -  stressing individual candidates and local concerns)  Did the terrorist attacks of September 11th, 2001 shift the 2002 election to issues more favorable to the Democrats or the Republicans? (199-201: the Republicans – national security and defense instead of domestic issues) According to Jacobson, was the strong Democratic tide of 2006 sufficient to deliver control of Congress to the Democrats? (209: no – it required quality candidates, good financing and exploitation at the district level) According to Jacobson, which is more important in House elections: the marginality of the incumbent or the strength of the challenger? (210: the strength of the challenger)
Assignment 5 – Jacobson, pp. 231-270, due read by 10/6
Assignment 6 is extensive and is due next week.  Have you begun working on it?
Potential quiz questions include: According to Jacobson, in general, do studies of roll-call votes indicate that how congressmen vote is effected by the views of their constituents?  (232: yes)  What is “descriptive representation”? (235: demography – since Congress is too old, too wealthy, too well-educated, too male and too white – descriptive representation isn’t high) From Jacobson’s perspective, is particularism good or bad?  (235-237: bad)  Why? (235-237: because it can produce policies that are bad for the nation as a whole, but are good for a relatively small attentive public that rewards legislators electorally – the large group of “losers” under such policies typically each “lose” so little that they do not notice) What impact does the rise in the ability of organized groups to electorally harm congressmen have on the likelihood that legislative compromises will occur? (236-238: reduces it because the groups typically are relatively extreme/anti-compromise and can cause electoral trouble for individual legislators who support compromises on issues the groups care about)  How can Congress be responsive but not responsible? (239: doing what the political active want which often imposes large costs – e.g., catering to a commercial group while imposing large diffuse costs on others) What is the only instrument available for imposing collective responsibility on Congress? (239: political parties) Why has the division between southern and non-southern Democratic congressmen lessened over the past several decades? (241-242: in-migration of northerners, industrial development, the movement of conservative white southerners from the Democratic to the Republican party, and the Voting Rights Act of 1965 - which increased African-American voting in the southern Democratic party – thus, the electoral coalition of southern Democrats became more similar to that of non-southern Democrats) According to Jacobson, has party cohesion in Congress been decreasing, or increasing, over the past 30 years? (242-245: increasing) Over the past 30 years, has the ideological difference between the two parties decreased or increased? (245: increased) Over the past 30 years, has the ideology of the typical voter become closer, or further, from the party they support? (250: closer)  Did the relationship between the ideological compatibility of voters and parties change because voter change preceded party change, or vice versa?  (253: party/elite change preceded voter change) If the public opposed the impeachment of President Clinton, why did Republican congressmen and senators overwhelmingly support it? (the answer, for most, wasn’t “principle”) (256-257: because the Republican “base” was overwhelmingly in favor of it – Republicans in Congress thought that they might get a vigorous primary challenge if they opposed impeachment)  What is Jacobson’s opinion of term limits? (246-247: opposed)  Why? (246-247: – 1- there is sufficient turnover in Congress without them; 2 – In there last years in office, why should we expect better representation from someone who knows, in advance, that they will be fired?; 3 – As their career comes to end, wouldn’t a term-limited representative be more likely to accede to private interests that might later employ them?; 4 – Why would “amateurish” – i.e., less knowledgeable legislators – less knowledgeable than the lobbyists, etc. they must deal with - be expected to be more responsive to their constituents?; 5 – the increased number of open seats – normally the most expensive races – would only heighten the need to raise campaign expenditures) Concerning the Iraq War, how did Republican and Democratic districts differ? (258: Republican districts were more supportive of the war) What do the findings of Hibbing and Theiss-Morse suggest concerning the ability of congressional reforms to increase the popularity of Congress? (261-262: not much)  Why? (261-262: the basic reason the public doesn’t evaluate Congress highly is that it does not value the conflict which is at the root of the democratic process) Which party is more efficient in translating electoral support into House seats? (264: the Republicans)  

Assignment 6 – Term Paper – Issue/Vote due on 10/13 

I want you to test the theories of the legislative process that  have been stressed in both the lectures and readings.  In order to do this, I want you to analyze the politics of one Congressional vote and the larger issue the vote deals with.  Because we have more information for states than congressional districts, I want you to use a Senate vote as opposed to a House vote.  Since it is more interesting to study conflict than consensus, pick a vote where at least 20% of those voting voted on the losing side.  For example, do not pick a vote that passed 90-10 or was defeated 17-83.  Typically, votes on amendments to legislation are more interesting than the vote on final passage.  It does not matter whether the measure was passed or defeated. Your Senate vote may be from 1989-2007.  Because the following issues are (or have recently been) used in my coursepack for either Legislative Process or Political Parties, you cannot use any of the following issues: the estate tax (or as opponents of the tax refer to it, the “death” tax), gay marriage (i.e., The Defense of Marriage Act or any other gay issue – gays in the military, domestic partner legislation, AIDS funding, etc.), immigration (or any issue logically related to it - e.g., citizenship for immigrants, guest worker programs, bilingual education, etc.) or free trade (e.g., NAFTA, CAFTA, etc.). Finally, since the sample outline and term paper for this course involve restricting gasoline consumption, you cannot use this topic or a related topic (e.g., fuel efficiency standards).  For reasons that will be clear later, do not select a vote from 2008.    

I do not want you to simply analyze one Senate vote.  Rather, I want you to analyze how the issue you select  was handled in the Senate.  Thus, I want you to analyze Senate action on this issue prior to the time of your vote  (e.g., committee hearings, prior votes on the particular bill, presidential involvement, etc.) as well as the political situation after the vote (e.g., subsequent votes on the bill, possible conference committee negotiations with the House of Representatives over similar legislation, presidential action, etc.).  
On the date this assignment is due, you need to bring to class copies of all the pages you will use in your paper from the following sources: The Congressional Record (make sure the pages you submit include the Senate vote – both a description of what was voted on as well as which senators voted “yes” and which voted “no”), newspapers (i.e., The New York Times, The Washington Post and The Los Angeles Times) and CQ Weekly.  These sources are discussed ahead. Assignment 6 is worth 25 points.  Late assignment lose 10 points per day (later on the due date counts as one day late).  Since Assignment 6 could easily take 5-10 hours to complete, you should start early.
In order to take advantage of the following “online” resources (e.g. CQ Weekly), you may need to either use a computer on campus or have a CSULB computer account.   If you access from home, you may need to “configure” your computer differently.  Since no computer related excuses will be accepted (e.g., your CSULB account lapsed, your computer isn’t configured correctly, etc.), you need to start early (i.e., assume everything won’t “work” the first time you try). The sample term paper which appears at the end of the coursepack is similar to a paper I received in a previous semester.  The example immediately ahead, which shows how to find votes, will use a different topic than the sample term paper.  

The following information will allow you to find a Senate vote in the  Congressional Record: (1) Go to www.thomas.gov; (2) Look in the lower middle of the page and click on “Roll Call Votes”; (3) Look under “Senate” (which is lower on the page than “House” – the Senate has more amendments and debate than the House of Representatives and is a more desirable source); (4) Pick any year from 1989 forward and click on either “1st Session” or “2nd Session”; (5) Look under “Description” on the right side of the page and see what interests you.  As I mentioned above, amendments are usually more interesting, and conflictual, than votes for final passage; (6) Click on the appropriate red numbered item in the “Vote” column and look for either “Statement of Purpose” or “Measure Title” in the middle of the page (this will explain what the vote was on and show the voting split - i.e., how many senators voted “yes” and how many voted “no” – you can also learn more about your vote by clicking on the red items immediately above the “Statement of Purpose” or “Measure Title” – e.g., “Amendment Number” or “Measure Number” and following the ensuing links).  Remember that at least 20% of those voting must have voted on the losing side.  It does not matter whether the legislation was passed or defeated.  Now scroll down to “Grouped By Vote Position” (this will list which senators voted “yes” and which voted “no” -  you should print this material because to do the term paper you will need to calculate the percentage of Democratic senators who voted “yes,” the percentage of Democratic senators who voted “no,” the percentage of Republican senators who voted “yes” and the percentage of Republican senators who voted “no”); (7) Assuming that you have found a Senate vote that relates to one of the issues you want to use in your paper and at least 20% of those voting voted on the losing side, it would be helpful to find out whether the vote has the amount of discussion, both in Congress and major newspapers, to be a vote/issue on which you can base the term paper.  In the example ahead, I am going to use a vote on the Estate Tax to demonstrate how to proceed.  Obviously, you can not use the Estate Tax as the Senate vote for your paper; (8) I went to www.thomas.gov, clicked on “Roll Call Votes,” under “Senate” I clicked on 109th (second session), I clicked on “00164” (Senate vote on invoking cloture – i.e., to cutoff debate on House Resolution 8 - hence “H.R.” – scrolled down to “Grouped By Vote Position” in order both to find whether at least 20% voted on the losing side and to show the “yeas” and “nays” by party affiliation of the senator – so I could perform all the necessary calculations – e.g., percentage of Democratic senators who voted “yes,” etc. – see above discussion).  A vote to limit debate is typically a vote on the legislation itself.  Those favoring the legislation will want to curtail debate so the legislation itself can be voted on.  If they fail, debate does not end and the issue is not voted on.  If the legislation is not voted on, it cannot become law.  That is why senators’ positions on cloture votes are very similar to their votes on the legislation itself.  Part of the reason to break the vote down by party is to analyze why some senators deviate from their party.  To obtain the Senate debate on the repeal of the estate tax I: (9) went back to www.thomas.gov, clicked on “Congressional Record,” clicked on 109th (i.e., the 109th Congress), under “Enter Search” I entered “Death Tax” (you may need to try a number of different phrases – for example, I could have tried “Estate Tax” or “taxation”), selected “Include Variants,” left only “Senate” and “Extension of Remarks” checked (i.e., I “unchecked” “House” and “Daily Digest”), clicked on “Sort by Date” and, finally, clicked on “Search.”; (10) clicked on “Senate – June 08, 2006” (in blue) which is to the right of item #29, “Death Tax Permanency Act of 2005- Motion to Proceed.” Notice the page numbers in blue on the left side of the screen.  You may notice several dates that correspond to your topic.  For example, June 6, 7 and 8 all had listings for the Death Tax.  However, June 8th was by far the most useful. I clicked on the top page number and then on “GPO’s PDF” (in the upper middle of the screen).   This produced an actual page of debate in the Congressional Record.  I saved this page to a floppy disk.  (If you are doing this at home, you may need to download Adobe Acrobat to your computer.  If you go to www.adobe.com you can download the Adobe Reader - which is what you will need - for free.)  Continuing with the Congressional Record, notice at the bottom of the screen it may say “Next Page.”  If so, click on the “Next Page” option and see if the debate on your topic continues.  If so, save those pages as well.  I would then follow this process for all the pages in blue that appeared when I executed step #10.  The pages of debate can be very useful for your paper. At a minimum, you should have 10 pages of debate.  Make copies of all the pages of debate and bring them to class on the day this assignment is due.  If you cannot find a debate similar to the one I have accessed here, choose another vote.  You need the debate in order to discuss legislative strategy.  Without it, you will not be able to write a good paper.

While at the www.thomas.gov website, I also checked for a committee report on the Estate Tax.  In the Senate, tax legislation is handled by the Senate Finance Committee.  At www.thomas.gov I clicked on “Committee Reports,” entered “Estate Tax” in “Search Committee Reports” box and clicked on “Include Variants.”  Since I am using the Senate, I then proceeded to “uncheck” all House Committees (leaving Senate Committees checked).  I Scrolled down to “Search” and clicked.  The results did not contain anything relevant to the Estate Tax.  So, I repeated the process inserting “Death Tax” instead of “Estate Tax.”  I still did not find any committee report that was relevant.  Hopefully, you will have better luck than I did.  Let me make a suggestion: try this process again after you examine CQ Weekly (as discussed ahead).  The reason I mention this is that you may find a story in CQ Weekly (see discussion ahead on how to access CQ Weekly) on your legislation which mentions the name of the legislation.  For example, the term “estate” or “death” may not appear in the title of the legislation.  The legislation might be term “The Efficiency Act of 2006.”  If so, I could then search for committee reports under this title.   

My next step was to follow the legislative strategy in The New York 

Times, Washington Post and Los Angeles Times newspapers and CQ Weekly Reports.   To read past articles in the previously mentioned newspapers do the following: (a) Go to www.csulb.edu/library; (b) Under “Research Support” look beneath “Find Articles” and locate and click on “databases by topic”; (c) click on “Newspapers”; (d) Click on “Newspapers” again (do not click on “Historical New York or Los Angeles Times” – you may need more recent material – if you are at home you may need to enter your campus id. and password); (e) click on the “Publications” tab on the top of the page; (f) click on “N” for The New York Times, “W” for the Washington Post and “L” for The Los Angeles Times.  You may be able to access material up to 20 years old directly from the New York Times website (www.nytimes.com).  On the day this assignment is due, you need to bring copies of several stories that discuss the congressional politics of your issue to class.  Make a particular effort to use both The New York Times and The Washington Post.
The final source to examine is CQ Weekly.  CQ Weekly is one of the most authoritative sources about Congress.  To access CQ Weekly proceed as follows: (a) go to www.csulb.edu/library ; (b) under “Research Support” click on “Locate Specific Journals by title”; (c) in the blank to the right of “Title begins with” type: CQ Weekly ; (d) (4) click on “Search” (immediately to the right of CQ Weekly) ; (5) enter your campus ID number and CSULB Library Password/Pin ; (6) click on “CQ Press” ; (7) click on “Floor Vote Search”; (8) use “Words or Phrases” (e.g., type in taxation, abortion, or some other type of issue that you are interested in) Note: you can access earlier years by using the “date range” in the middle of the screen

(9) after entering a “Word or Phrase” click on “Search” In my case, there were specific articles on the Estate Tax.  You may need to look more broadly.  For example, my topic might have been listed under a variety of different titles (e.g., the Death Tax, taxation, tax equity, budget deficit, etc.).  Notice that a later article in CQ Weekly may refer you to previous articles in CQ Weekly on your topic.  Such additional articles can be very useful.  
It is important to consider what a “yes” or “no” vote actually means.  For example, suppose a vote on an amendment to a bill increasing the minimum wage allows employers not to pay the minimum wage to teenage workers.  Voting “yes” on such an amendment would not show support for the minimum wage.  If the amendment were to pass, the minimum wage would be “weakened” since teenagers would not be covered.  Additionally, it is important to be aware of certain words commonly used in describing votes which, in effect, change the direction of what is being voted on (just keep reading).  If the legislature is voting on a motion to "table" or "recommit" the legislation, voting "yes" on such a motion is to oppose the actual bill (if the legislature votes to "table" a bill then the bill will not be brought up for consideration and therefore could not be enacted-hence voting "yes" on a motion to "table" the bill has the same effect as voting "no" on the bill itself).   Additionally, the word "strike" means to remove (i.e., take out or delete).   Finally, “substitute” means to replace part of the legislation (e.g., “substitute” 6 months for 3 months).  
Assignment 7 – Dodd and Oppenheimer (hereafter “D & O”), pp. 
xxi – xxix, (i.e., Prologue: Perspectives on the 2004 Congessional Elections), 77-134, due read by 10/15
Potential quiz questions include: According to Dodd and Oppenheimer, what was the impact of the 2004 election on the degree of partisan polarization in Congress? (xxi: increased it) Compared to 1980, are states more, or less, likely to elect both senators of the same political party? (xxii: more likely) What structural feature of the Senate makes it difficult for the Democrats to win a majority of the seats? (xxii: equal representation for each state when the Republicans are winning approximately 30 of the 50 states in presidential elections and fewer voters are splitting their ticket) Compared with 30 years ago, are attributes of House candidates becoming more, or less, important relative to the partisan composition of the district? (xxii-xxiv: less important) In 2004, of the 435 House seats, roughly how many were politically competitive (i.e., with the winner receiving 55%, or less, of the vote)? (xxiv: about 20) What is happening to the number of moderates in Congress? (xxvii: they are decreasing) According to Erikson and Wright, since 1946, what has been the highest, and lowest, percentage of House seats held by the Democratic Party? (78: 67% - 1964, 47% - 1994)

Between 1992 (the last election in which the Democratic party won a majority of House seats) and 1994, how much greater a share of the congressional vote did the Republicans receive? (79: 6%) What appears to be the relationship between macropartisanship and the vote by party in congressional elections? (80: pretty close) What is the relationship between policy mood and Democratic strength in the House? (80: the more liberal the mood, the greater Democratic strength) Over the post-WWII period, each additional percentage point of the presidential vote that a party received was associated, on average, with how much of an increase in that parties’ share of the congressional vote? (81: almost 1/3 of 1%) How well do “withdrawn coattails” and/or “ideological balancing” explain the  share of House seats won by the Republican party in 2002? (82: neither does well – Bush’s popularity and redistricting are probably better explanations)  In 2002, how did Democratic and Republican House candidates differ on spending preferences? (84-85: Democrats favor greater spending than Republicans except on defense, terrorism and law enforcement) Approximately what percentage of the 2002 House Republican candidates favored increasing the minimum wage? (85: approximately 20%) Make sure you can read the figures on pp. 84-86.  They could easily appear on a quiz.  How did Democratic and Republican House candidates differ on the “selected issues” (i.e., Figure 4 on p. 85)? (85: Republicans – high levels of support for withdrawing from the ABM treaty, drilling in the Artic Reserve, requiring permission to use union dues for political activity and making English the official language; Democrats – little support for the previous Republican positions, but very supportive of increasing the minimum wage, affirmative action and keeping abortion legal) Make sure you can interpret Figure 4-6 on page 88.  A quiz may well contain the diagram and ask you to explain the meaning of the diagonal lines and to interpret a particular dot.  What is the relationship between the share of the vote an incumbent received in their last election and the probability of facing a strong challenger in their next election? (89-90: negative – the greater the share of the vote in the last election the lower the probability of facing a strong challenger in the next election) According to Erikson and Wright, do Republican and Democratic candidates for the same House seat converge at the ideological “center”? (92: no)  Why? (92: voters don’t vote exclusively on the basis of ideology and candidates try to appease their core supports, as well as their own ideology, by moving, somewhat, to the extremes)  According to Erikson and Wright, approximately how many percentage points would the vote for the most conservative Republican in the House change if they adopted the policy positions of the least conservative Republican in the House? (94: increase by about 9%) The strongest two variables can be correlated is 1.0.  Given this, how would you interpret the correlation between a congressmen’s ideological position and the opinions of their constituents? (97: the .82 correlation is very strong) Typically, are House elections more, or less, competitive than Senate elections? (99: less competitive) Why? (1 – party balance in states is typically more equal than in congressional districts; 2 – better challengers; 3 – reduced incumbency advantage of senators) Does the fact that each state has the same number of senators help, or hinder, the adoption of conservative policies? (100: helps it because more liberal states tend to have larger populations, and hence, less representation per voter, than smaller states) How does the relationship between the ideological extremism of senators and their share of the vote correspond to the findings for the House? (101: rather similar)  According to Herrnson, questions about the proper use of money in politics involve a clash between what two fundamental values? (107: liberty and equality) What parts of the Federal Election Campaign Act (FECA) were ruled unconstitutional? (109: limits on candidate contributions to their own campaigns, spending limits by candidates’ campaign committees, prohibiting others spending independent of a campaign – also, limited applicability of regulation to just words involving “vote for,” “elect,” or “defeat”)  According to Herrnson, how do Democratic and Republican leaders differ on campaign finance reform? (114: Republicans either oppose contribution limits or favor very high limits; Democrats favor lower limits, public financing of campaigns and free media and postage) In Congress, which party was more favorable to the Bipartisan Campaign Reform Act (BCRA)? (116-117: Democrats) Did the Supreme Court uphold, or overturn, most provisions of the BCRA? (122: upheld most provisions) 

In the 2004 congressional elections, did the BCRA seem more to benefit incumbents or challengers? (123: incumbents)  In the 2004 elections, which party probably benefited more from the BCRA? (123: the Republican party)

In terms of relative power, does the BCRA seem more to have helped federal, or state, political parties? (127: state party organizations – weakens the national parties’ ability to impose a strategy or their state affiliates) Is the BCRA likely to reduce the share of campaign money coming from wealthy donors? (131: no) Why? (131: due to the higher contribution limits the BCRA is likely to result in an increased share of money coming from wealthy donors)

Assignment 8 – D & O, pp. 135-180, due read by 10/20
Potential quiz questions include: According to Oppenheimer, how did the degree of success, or security, of House incumbents in the 1990s compare to the 1965-89 period? (137-138: similar) How did the size of the “sophomore surge” for the 1994-2000 period compare with the 1972-1990 period? (139: the 1994-2000 period was lower) How did the personal incumbency advantage over the 1992-2000 period compare with the immediately preceding decades? (140: the personal incumbency advantage – the difference between a congressmen’s vote and the underlying partisan basis of their district – was lower during the 1992-2000 period; underlying partisan basis is measure either as the congressman’s vote minus the presidential vote for the congressman’s party in their district – p. 140 – or as the difference between a party’s share of an open-seat contest and the vote margin of an incumbent of that party in an immediately adjacent election – top p. 137) How did the number of competitive House districts (i.e., where the Republican candidate received between 45% and 55% of the vote) in 2000 compare to 1976 and 1960? (143: least in 2000 – 42 districts with the corresponding figures being 65 in 1976 and 85 in 1960) Looking at Figure 6-3 on page 146, are the dots more spread-out over the length of the diagonal line in 1976 or in 2000? (146-147: 2000) What does this tell you? (146-147: in 2000 there were fewer congressional districts where the presidential vote was close than in 1976) According to Oppenheimer, why did the personal incumbency advantage decline during the 1992-2000 period? (147: because the partisan incumbency advantage was increasing – i.e., the presidential vote, or the underlying partisan balance, was becoming more unequal) According to Oppenheimer, why do incumbents from districts that vote overwhelmingly for the presidential candidate of the congressman’s party have such a small personal incumbency advantage? 147-148: 1 – since they are unlikely to lose, there is less incentive to build a personal incumbency advantage, especially since that would take time and effort away from the congressman’s other probable goals of making good public policy and/or becoming a party leader in the House; 2 – similarly, as the percentage of the voters of the opposition party decreases in a district, the gains from appealing to it decline – e.g., getting 20% of the 20% of the district that votes for the opposition yields a smaller number of votes than would 20% of 40%) Redistricting forces party leaders to choose between what two potentially conflicting goals? (149-150: maximizing the electoral security of their party’s incumbents or maximizing the number of seats the party is likely to hold in the legislature) According to Oppenheimer, what is the best explanation for the recent increase in the underlying partisan advantage of incumbents? (152-153: residential self-selection – people are choosing to live in areas that are politically more homogeneous)  What two important consequences of the increased underlying partisan advantage of incumbents does Oppenheimer foresee? (154-155: 1 – there is less likely to be a significant change in the partisan balance in the House; 2 – greater partisanship and less compromise because the rewards for moderation and compromise are reduced – i.e., the “real” election often takes place in the primary, rather than the general election, where moderation can leave a candidate vulnerable to an extremist challenger in the primary – e.g., this is why the Republicans pursued impeachment so vigorously) After Fiorina interviewed two congressmen and spent time in their districts during the mid-1970s, how did he think congressmen were achieving high levels of electoral security? (161: constituency service) According to Fiorina, when political scientists achieve a consensus, what does this suggest? (163: things either have changed and we haven’t noticed, or, they are about to change) Using Figure 7-1 on page 165, how would you compare the congressional election of 1966 with the congressional election of 1994? (165: relative to national forces, local forces were much more important in 1966, in 1994 the two factors were equally important) According to Fiorina, what three factors account for your answer to the previous question? (167-171: 1 – the reasons for the previous insulation of incumbents such, as constituency service/attentiveness to the district, were routine by 1994 and thus discounted by voters; 2 – incumbents were able to maintain a huge advantage in campaign funds and could, thus, deter strong challengers and defeat weak challengers – similarly, interest groups can dictate what the issues are through advertising, etc., and this didn’t occur a generation ago – also, running against congressional leaders – i.e., morphing Newt Gingrich in adds, nationalizes the campaign; 3 – today’s candidates have stronger policy commitments than those of a generation ago)  According to Fiorina, what three possible explanations are there for a strong correlation between a congressman’s political party affiliation and their roll call voting behavior? (173-175: 1 – selection – members select their party because of their ideology; 2 – party leaders have strong influence on their members – e.g., party leaders can withhold campaign support, desired committee assignments, support for pet projects, etc.; 3 – constituency or “the party in the electorate” – Democrats and Republicans have different constituencies) When Fiorina wrote the Keystone book, what did he see as the central problem with Congress? (175: distributive politics had gotten out of hand) Why does Fiorina think the problem identified in your last answer is less important today? (175: 1 – many interest groups today oppose distributive politics; 2 – Republican presidents have slowed the growth of distributive and regulatory policies; 3 – deficits have forced spending cutbacks on distributive policies) How does public opinion about abortion and the politics of abortive exemplify what Fiorina thinks is currently the greatest problem with Congress? (176: public opinion on abortion suggests support for choice, but with some restrictions; however, interest groups/activists involved are extremists and will punish, probably with a strong challenger in the primaries, either Democrats who favor abortion restrictions or Republicans who favor choice with restrictions – thus centrist public opinion is not being translated into public policy)    

Assignment 9 – D & O, pp. 1-76, due read by 10/27
Potential quiz questions include: How would you compare the Senate of today with the Senate of the 1950s? (1-2: today – highly partisan and individualistic; 1950s – senators specialized on just what their committees dealt with – less staff made this an imperative, few electoral difficulties and much reciprocity between senators) How did the Senate change from the 1950s to the 1960s? (3: the political environment changed – new racial, social and environmental issues which greatly energized citizen interest, as well as the formation of many new interest groups.  The mass media became more important.  Media and interest groups needed advocates and spokespersons.  Since senators are more prestigious than House members, they fit the bill.)  How did the Senate change from the mid-1960s to the mid-1970s? (3: responding to the desire of newly elected non-southern liberal Democrats, new members gained power – through proliferation of subcommittees – at the expense of committee chairs – who were typically southern conservatives) How has both the cohesion within each party and the ideological difference between the parties in the Senate changed over the past 30 years? (4: with the replacement of many southern Democrats with Republicans, greater cohesion within each party and greater ideological distance between the parties) What does Sinclair mean by describing Senate committee decisions as being made by “the interesteds”? (5: due to the high workload of each senator, only committee members who are genuinely “interested” in the legislation make the decisions)  How does the power of the Senate majority leader compare to the power of the Speaker of the House of Representatives? (6: the Senate majority leader is less powerful) How has the frequency of filibusters changed over the past 30 years? (7: increased) What is the purpose of a unanimous consent agreement? (10-11: to get an agreement that will make it possible to vote on the legislation) Why are “holds” important to the Senate majority leader? (11-13: they signal potential opposition to the legislation– e.g., a potential filibuster) How does the combination of individualism and intense partisanship effect the probability of a given bill being passed by the Senate? (16-17: reduces it) Given the ability to do so, why don’t senators use their power to block legislation more frequently? (17-19: 1 – the desire to get something done; 2 – reciprocity – if you block someone’s legislation they may try to block your legislation)  According to Dodd and Oppenheimer, how did the Contract with America fit with Democratic party policy? (25-26: it opposed Democratic policies) What forms of power did Gingrich utilize upon becoming Speaker of the House? (26-27: 1 - ideology, or loyalty to Gingrich, became more important than seniority in deciding who would be committee chair; 2 – the power of committee chairs relative to the speaker was reduced by having term limits so the chairs could not build sufficient political strength to challenge Gingrich’s policy positions; 3 – he had a close relationship with Republicans on the Rules committee; 4 – however, Gingrich was restricted to a four-term limit as speaker) Why did Gingrich want government shutdowns? (27: as a way to gain political dominance over a sitting Democratic president) Politically, who profited from the government shutdowns? (27: Clinton) Relative to Gingrich, how powerful is Hastert? (28: less powerful) Why did Hastert cooperate with Clinton? (28-29: to build a legislative record that would keep the Republicans in control of the House)  In the period immediately preceding the September 11th attacks, how strong politically were congressional Republicans and President Bush? (31: not that strong)  As the year 2001 ended, was the House, or the Senate, the greater political counterweight to the President? (33: the Senate) In the aftermath of the September 11th attacks House Minority Leader Richard Gephardt stressed bipartisan cooperation with the President.  Politically, how effective a strategy was this? (34-35: not very – Bush still used Iraq and homeland security successfully against the Democrats in the 2002 election) If there wasn’t a pro-Republican trend among voters in the 2002 election, what explains the Republican gain in House seats? (36: redistricting – also perception that it wouldn’t be a good Democratic year meant a shortage of good Democratic challengers) Was turnover in the House high, or low, as a result of the 2002 election? (37: low) According to Dodd and Oppenheimer, how likely are large turnovers of House members in the next several elections? (38: low) Electorally, are moderates typically more, or less, secure than members with high party unity scores (i.e., more ideological extreme members)? (42: less secure) Since Republicans are typically not very supportive of social welfare programs, why did President Bush push for enactment of a prescription drug benefit for seniors? (45: to solidify GOP support among seniors) Which of the following has been more typical of congressional Republican strategy over the past decade: work for broad bipartisan consensus or pursue a very conservative agenda relying on Republican unity? (47-48: a conservative agenda relying on Republican unity) According to Dodd and Oppenheimer, what is the greatest threat to continued Republican control of the House of Representatives? (51: overreaching – pursuing an agenda too extreme for voters) How popular is Congress relative to the President and state governments? (60: less popular) Why is the Supreme Court so popular? (61: secrecy – in other articles Hibbing also mention that, unlike members of Congress, Supreme Court justices are not perceived as profiting from their decisions – this greatly boosts popularity) How does people’s level of support for Congress differ from their level of support for their own member of Congress? (63: much more supportive of their own member of Congress) How popular are congressional leaders with the public? (63-64: not very popular)  Does the popularity of each party in Congress tend to move in the same direction (i.e., up or down together) or in opposite directions (i.e., as congressional Republicans become more popular congressional Democrats become less popular)? (65-67: moves together) How popular is Congress as an “institution”? (64: very popular)  Why are interest groups unpopular? (67-68: seen as selfish – opposed to the public good) Why does the public favor term limits, reducing congressional staff and congressional salaries? (68: because they think congressmen act to benefit themselves, not society – staff helps them accomplish this) Is demography a good predictor of one’s support for Congress? (71: no) What are the best predictors of one’s support for Congress? (73: the more one values debate and believes that compromise is necessary, the more supportive of Congress they are)  

Assignment 10 – D & O, pp. 181-248, due read by 11/3
Potential quiz questions include: According to the Cooper-Brady model, what is the primary source of the degree to which leadership power is centralized in the House of Representatives? (182: the greater the degree of polarization between the electoral coalitions of the parties, the greater the centralization of leadership power) What do Smith and Gamm suggest is not important in the Cooper-Brady model in explaining the degree to which leadership power is centralized in the House of Representatives? (183: leadership styles and personalities) According to the conditional party government model, what two factors govern the assertiveness of House leaders? (183: the greater the degree of party cohesion and the greater the interparty differences – i.e., polarization, the greater the degree of leadership assertiveness)  According to Smith and Gamm, what is the critical difference between the Cooper-Brady and conditional party government models? (183: conditional party government model asserts that strong party leadership makes a difference)  According to Smith and Gamm, why doesn’t the Cooper-Brady model translate well to the Senate? (184: member’s ability to thwart the leadership – through filibuster, bringing up bills via amendment, etc.)  According to Smith and Gamm, how strong is the relationship between interparty differences and the degree of centralization of power in the House of Representatives? (185: pretty strong) How strong is the relationship between party cohesion and the degree of centralization of power in the House of Representatives? (185-186: not as strong) Were the “Reed Rules” adopted because the majority party had a large, or small, majority? (187: small majority – needed to keep members “in line”) How did the power of the Aldrich-Alison group compare to the power of Joseph Cannon? (189: Cannon had much more power) From the standpoint of the conditional party government model, what is odd about the Democrats increasing the degree of centralized power in the House of Representatives during the 1970s? (196: there was a low degree of party polarization) What is the relationship between the leadership styles of Republican House Speakers since 1994 and the degree of party polarization? (198: no relationship – polarization has been high throughout this period) According to Smith and Gamm, what important factor does the conditional party government model omit in explaining the degree of power centralization in the House of Representatives? (198: electoral concerns)   

According to Schickler and Pearson, has Speaker Hastert kept a lower public profile than Speaker Gingrich? (209: yes) Has Hastert pursued a much less centralized approach to leadership than Gingrich? (209: no – leadership is still as centralized as under Gingrich) Since taking control of the House in 1995, have Republicans been increasingly open to Democratic attempts to amend legislation or increasingly restrictive toward such attempts? (211: increasingly restrictive) Did the change from Gephardt to Pelosi signal a more accommodating or more confrontational Democratic party in the House? (213: more confrontational) What impact has the reduction in the number of conservative Democrats in the House had on the cohesiveness (i.e., unity) of House Democrats? (213: increased it) How similar is Pelosi’s leadership style to Gingrich’s? (216: rather similar) Currently, what seems to be the basic behavior of House Democrats toward Republicans? (216: confrontational, stress policy differences with Republicans, use tactics to draw attention to Democratic positions – e.g., filling discharge petitions, appealing rulings of the chair, etc.) According to Schickler and Pearson, what is the likelihood of the centralized Republican leadership system becoming the norm in the House of Representatives? (219-221: pretty high – 1 – little ideological disagreement among Republicans; 2 – collegial leadership style within the party – i.e., few disgruntled moderates; 3 – as each year passes, fewer members can remember more decentralized leadership; 4 – only strong opposition of Democrats is similar to the downfall of Cannon) Which group has worked better as a team: Clinton with Democratic control of Congress or Bush with Republican control of Congress? (221: Bush with a Republican Congress) How successful have the Republicans been in enacting legislation in the spirit of the Contract with America? (223-224: not very – other than lowering taxes, they haven’t reduced the size or scope of government or brought about a balanced budget) According to Evans and Lipinski, what obstruction reducing rule does the Senate lack? (228: a motion on the previous question) What is the effect of obstructionism on parochialism? (228: increases it) Why did the broadened political environment of the 1960s produce more obstructionism in the Senate? (231: created a larger number of advocacy groups that need to be placated- e.g., civil rights) What was the impact of the Reagan administration on the use of obstructionist techniques in the Senate? (232: increased them) Why? (232: increased partisan polarization) What do the Baker data tell us about the use of “holds”? (232-236: 1 – the minority party, especially if a small minority, uses holds more frequently than the majority party; 2 – ideological extremists use holds more frequently; 3 – unrestricted holds are used more by senior members; 4 – have caused the majority party to seek cloture even before the beginning of floor action; 5 – holds are more effective later in the session; 6 – strengthens the Senate’s position vis-à-vis the House in negotiations; 7 – used for retaliatory purposes – i.e., to stop something in order to gain an unrelated change; 8 – makes Senate floor action less predictable) Do Evans and Lipinski think that there will be institutional changes in the Senate that significantly reduce obstructionism? (244-245: no)

Note: At the next class meeting you need to show me a printed copy of the outline for your term paper.  As you will see by reading the discussion for Assignment 11, this is a significant project.  It could be useful to start now. 

Assignment 11 – Outline for the Term Paper – 11/10
On this date you need to submit a detailed outline of your paper.   Assignment 11 is worth 25 points.   At the end of the discussion of Assignment 11, I have a sample outline.  However, do not just “jump” to the sample outline.  You need to read the sections leading up to the sample outline.  In order to prepare your outline, you need to study the documents that pertain to your paper (i.e., Senate debate, articles in newspapers and CQ Weekly and, possibly, committee reports).  Additionally, you also need to read the following section on writing the paper.  Even though the written paper is not due until later, you will need to understand how to write it in order to prepare the outline.
At the outset, let me mention that this is a paper about how the legislative process works.  Do not make normative statements about the legislation (i.e., do not say that you think the legislation is either “good” or “bad”). You’re functioning as a political scientist, not a policy advocate.  Begin your paper with a short discussion of what both the legislation (i.e., the bill) and your particular vote are about. This should not be a long technical discussion.  After a brief discussion of what the legislation and vote involve, the next step in the paper should be to discuss the nature of the benefits and costs of the legislation.  Here are some important concepts to utilize in characterizing the form of the legislation.  First, are the cost and benefits of the legislation immediate or delayed?  Politically, it is particularly difficult to pass legislation where the benefits are delayed and the costs are immediate.  This has typically been a problem for environmental issues.  Frequently, environmental benefits take many years to attain.  Additionally, the “benefit” may be to avoid a situation worsening.  It is particularly hard to “sell” sacrifice today for a future outcome that is no better than the current situation.  Even more difficult would be the combination of a delayed benefit structure but immediate costs.  In the late 1970s, President Carter proposed increasing the gasoline tax by $.50 per gallon (roughly $1.75 today).  The costs would have been immediate and the benefits (e.g., cleaner air, less ozone depletion, etc.) delayed.  Not surprising, Carter was unsuccessful.  On the other hand, a combination of immediate benefits and delayed costs (e.g., a tax rebate) is much easier to for politicians to support.   
Second, to what degree are the benefits and costs general or particularistic?  General benefits, or costs, go to a large number of people (e.g., clean air).  Comparatively, particularistic benefits, or costs, affect a much smaller group of people (e.g., a tax provision that only benefits timber companies).  It is often difficult to pass legislation that has small general benefits and high particularistic costs.  For example, closing military bases should produce general benefits (e.g., the savings could be used to reduce taxes for the entire population).  However, the general benefits may be so small that the “winners” will not base their vote for senator on the legislation.  Thus, how many taxpayers would now vote for a Senator on the basis of an annual $10 reduction in their federal income taxes?  Alternatively, states that have military bases that would close will suffer large particularistic costs (i.e., significant reduction in jobs, spendable income, etc.).  On the other hand, if the general benefits are high enough, the vote may pass.  Thus, if the typical taxpayer saved $1,000 per year, even senators from states that lose bases would probably support the legislation (i.e., the number of votes “lost” because of poorer local economic conditions would be more than offset by the number of voters who would vote for the Senator because of the tax reduction).

Third, are benefits and costs direct or indirect?  Direct benefits and costs are relatively easy for voters to notice.  For example, a taxpayer can see the immediate effect of a tax reduction: their take-home pay immediately increases.  Indirect benefits and costs involve several stages to materialize and may be difficult for the voter to trace to the legislation.  For example, crime reduction legislation might involve hiring more police officers.  However, the crime rate would not immediately be reduced.  Rather, police officers would need to be hired, trained, and deployed.  If successful, the crime rate might fall at some future time.  Additionally, the voter may not know if the crime rate actually changed.  There have been several studies that have found that many voters perceive the crime rate rising because they see a report of the number of crimes or watch investigations of crimes.  However, the actual crime rate was decreasing.  Unfortunately, the “benefits” of the legislation may not be known to many voters.  All other factors being equal, politicians receive greater political benefits from actions that bring about identifiable improvements that the voter can trace back to the senator’s action (e.g., a senator’s vote or service the senator provides for individual constituents).   This is also one reason that legislators frequently try to structure benefits in a way that the constituent utilizes the legislator (e.g., a farmer who gets their loan with the help of a senator’s call to the Department of Agriculture).  Formula driven programs typically do not maximize political benefit to legislators.  Thus, senior citizens are not likely to think that their own senators are responsible for their Social Security benefits.  The benefits are determined by a formula and are external to senators.       

Suppose you are dealing with legislation that has large diffuse benefits (i.e., the benefits are large, but we don’t know who receives them) and significant obvious direct costs (i.e., the costs are large and we know who will bear those costs).  For example, let us say that a particular piece of legislation might retain the estate tax and use the tax money to reduce air pollution.  One of the greatest difficulties in passing such legislation would be that the beneficiaries are unknown.  Thus, even if the legislation would result in 30,000 fewer incidents of lung cancer per year, we do not know whom the legislation would protect from lung cancer.  Therefore, the beneficiaries are not likely to be as politically active as they would if they knew that unless the legislation passes, they will be stricken with lung cancer.  Alternatively, although we do not know the exact date someone will die, those with large fortunes, and their heirs, are likely to cast a vote for senator on the basis of this legislation because they know that their taxes would be much higher if the estate tax were retained.    Similarly, the legislation might entail differing timing of costs and benefits.  For example, if the costs (e.g., higher taxes) are immediate, but the benefits are delayed (reduced pollution and disease 10 years from now), the legislation is much more difficult to pass than if the reverse is true (i.e., immediate benefits, delayed costs).  


The next section of your paper should analyze the strategies pursued by both proponents and opponents.  Often times the strategy involves structuring the voting options presented to senators. The leadership’s goal is to frame voting options in such a manner as to approve legislation the leadership desires and defeat legislation it opposes.  For example, supposing the issue concerns congressional salaries.  If senators vote themselves a pay raise, they appear selfish.  A future opponent could use this vote against the incumbent.  Therefore, how the leadership structures the pay raise issue likely tells you their position on it.  If the leadership opposes the pay raise, it will try to force an “up or down” vote on the pay raise itself.  This is because few legislators want to go “on record” favoring increasing their own salaries.  

If the leadership desires the pay raise, it will select a voting option that makes it difficult to trace the pay raise back to a Senate vote.  One variation of this strategy is to appoint a commission whose members are not part of the legislature.  My first guess is that if a commission is appointed, the policy change at issue will either be unpopular and/or adversely impact some important constituency.  Typically, those appointing the commission already know what policy change they prefer.  The point of the commission is to offer legitimacy.  Thus, the leadership can argue that the proposed policy change was recommended by a “well-qualified” (probably bipartisan) commission.  To return to the pay raise example, the strategy would likely be to appoint a commission sympathetic to pay raises for all federal employees.  The next step would be an aggregation strategy: rather than have a vote on each category of federal employee (e.g., senators, janitors, etc.), structure the voting so that the only vote is to accept or reject the commission report covering all federal employees (i.e., no amendments).   This way, a legislator can say that they did not vote directly for a pay increase, they only voted to accept the recommendation of a commission.  Additionally, senators can say that had they not voted for the pay raise, hundreds of thousands of deserving federal workers would have been denied a pay increase.  Politically, this approach is much easier for a senator to defend than would simply voting to increase senators’ salaries.  Had the legislation been popular (e.g., increasing penalties for those convicted of violent crimes), proponents would have tried to set the voting options so that it would be easy to trace politically advantageous positions, or outcomes, back to senators’ votes.  Obviously, opponents would have tried the opposite.

Aggregation strategies have also been applied to budget reductions and tax preferences.  For example, rather than having a series of votes to reduce expenditures for popular programs, which if voted on individually, would fail (e.g., education, aid to the blind, etc.), permit voting only to occur on the entire package of cuts.   Similarly, if Congress tries to eliminate favorable tax treatment for particular industries, typically, the affected industries lobby hard to retain the preferences.  Furthermore, tax reductions are so small that taxpayers simply will not use the issue as a basis for voting.  If presented in this manner, tax preferences usually prevail.  If the leadership is serious about reducing tax preferences they package a group of preference reductions that will lower the taxes of ordinary citizens enough that voters will pay attention.  Additionally, the leadership will likely structure the voting so that no amendments to retain particular preferences may be voted upon.  Strategies that concern what voting options legislators are offered are often termed “procedural” strategies.  Thus, such a strategy is concerned more with “how” legislation is passed  than with the “merits” of the legislation. 

Another strategy concerns how costs are imposed.  For example, if the goal of the legislation is to reduce pollution and the dependence on foreign oil by reducing travel, it is politically more feasible to decontrol oil (i.e., remove price ceilings), and allow the price of gasoline to rise rather than to raise gasoline taxes.  If taxes increase the public may blame senators.  If gasoline prices rise (not due to tax increases) the public is likely to blame the oil companies.  Similarly, business regulations are often a more politically acceptable manner to achieve a goal than taxation.  This is because the costs, at least appear, not to be borne by ordinary citizens.  Thus, politically, it may be more feasible to require businesses to provide health insurance to their employees than either to raise taxes and have the government provide health insurance or to require citizens to purchase health insurance.   

 
Several additional thoughts on “political feasibility.” First, when reading discussions of floor action on your legislation, look for appeals to “anticipated,” as opposed to “actual” public opinion.  It is not necessarily current public opinion in the senator’s state that is most important, but rather what public opinion is likely to be on this issue the next time the senator is up for election.  Supporting something that may be popular at the moment, but is unlikely to be popular once those adversely impacted learn of the costs of the legislation, is not necessarily good politics.  

Second, it is not majority public opinion, but either the opinion of activists in the senator’s voting coalition and/or the number of voters that will actually vote for, or against, the senator on the basis of this one particular vote that is important.  For example, even if a proposal to require greater fuel efficiency in cars is unpopular with the entire electorate, it is likely to be very popular among the environmental activists that are politically aligned with Democratic senators from states such as California.  Additionally, the voters opposed to the legislation may not feel as strongly, and hence be less likely to vote on the basis of it, than would environmental activists. If a Democratic senator from California voted against such legislation, environmental activists might withhold money and other forms of electoral support in the next election.  Furthermore, these same activists might recruit a more environmentally oriented candidate to run against this senator in the Democratic primary.  Either of these outcomes would make the senator appear more “beatable,” and hence help the Republicans field a stronger candidate.  Thus, a Democratic senator in this position might easily vote against majority public opinion.  For a Republican senator from California, the situation would likely be reversed: the few votes they would receive from environmental activists would be more than offset by the loss of campaign contributions and other forms of electoral support from business interests that are typically aligned with the Republican party and favor weaker environmental rules and enforcement (e.g., the oil, gas, and automobile industries, the Chamber of Commerce, etc.).  Much of the preceding discussion of legislative strategy was based on R. Douglas Arnold’s, The Logic of Congressional Action.  You don’t need to read the book!  I just wanted you to know the origin of these ideas.  

  
As you follow the legislation through the Senate, pay particular attention to amendments.  Look at the number of amendments, which party the amendments are coming from (i.e., the majority or minority party), whether the senators offering amendments are members of the committees that have jurisdiction over the legislation, and what constituencies the amendments may impact.  Additionally, look at what is covered by unanimous consent agreements (e.g., number and germaneness of amendments, time allotted for debate, etc.).  Furthermore, do opponents either threaten, or actually undertake, a filibuster?  What impact does the president appear to have? Concerning floor activity in the U.S. Senate, a particularly useful section of Lawrence C. Dodd and Bruce I. Oppenheimer’s, Congress Reconsidered, 8th ed., is pages 227-248.  Moreover, pages 223-228 of Gary C. Jacobson’s, The Politics of Congressional Elections, 7th ed., will also be of much value to your paper.  Finally,  I hope class lecture notes will be useful for your paper.  


In addition to the analyzing the legislative strategy, you can also analyze the vote you selected.  I typically look to see how cohesive each party is.  For example, if each party wasn’t completely cohesive (e.g., 20% of Democrats voting in opposition to the position supported by most Democrats), what explains the intraparty conflict?  What explains the “deviant” senators (i.e., senators who voted opposite to most members of their party)?  Suppose several Republicans voted on the same side as most all Democrats.  Were these “maverick” Republicans more liberal than most Republicans?  You can check this by going to http://www.adaction.org.  This is the website of the Americans for Democratic Action (hereafter ADA).  Each year the ADA constructs a liberal quotient consisting of the percentage of times each Senator and House member votes in the direction favored by the ADA. For example, if the ADA picked 20 votes in a given year and Senator Feinstein voted in the direction favored by the ADA on 12 of those votes she would receive a score of 60% (i.e., 12 is 60% of 20).  Higher scores denote greater liberalism.  If you are at the ADA website, click on “publications,” and then click on “voting records.”  You will see annual voting records for the Senate since 1985.  So, how does the liberalism of our “maverick” Republicans compare to most other Republicans?  Additionally, I would also look at the economic interests of the senator’s state.   You can also gather information on individual senators and the political characteristics of their states at http://en.wikipedia.org/wiki/Main_Page.   Furthermore, I often consult The Almanac of American Politics, published every two years, for such information.  The book is organized by state.  At the beginning of the discussion of each state, there is some interesting economic and social data (e.g., percent of the state in poverty, racial composition, etc.).  The Almanac of American Politics also contains a wide variety of ideology and interest group ratings (e.g., ADA scores) on senators.   Something to keep in mind when using The Almanac of American Politics: it is numbered “ahead” (i.e., senators who served in 2003 and 2004 are listed in the 2004 edition).  If ADA doesn’t have the scores posted for the year you are interested, use the next most recent year.   Most all of the senators who were members of the Senate at the time of your vote were also serving in the Senate during the previous year.

Constituency factors may also help explain why some members voted against a majority from their own political party.  For example, perhaps the senator represents a state that is politically dominated by the opposition party.  On certain well-publicized votes, a senator in such a situation could certainly vote with the opposition party.  To investigate this, examine the presidential vote in the senator’s state ((http://uselectionatlas.org/RESULTS/) or try www.google.com and type, for example, presidential vote by state, 2004 – or the closest presidential election to the date of your vote).  Suppose you are examining a vote on crime.  Suppose further that a normally liberal Democratic senator votes in favor of a very punitive anti-crime measure whose typically supporters tend to be quite conservative.    Here are the first thoughts that would come to my mind: (1) the crime rate in the senator’s state is unusually high {i.e., find the crime rate for each state (sources listed ahead -  make sure to omit the District of Columbia), add up the 50 individual state crime rates, divide this total by 50 (this yields “the mean”), and then see how the crime rate in the senator’s state compares to the mean crime rate for all 50 states}; (2) the electorate in the senator’s state is rather conservative (use the presidential vote in the state as a measure of the liberalism of a state’s electorate); (3) the senator is up for election soon; (4) the senator is politically vulnerable (e.g., won by a very small margin in their last election and/or looks to have a strong challenger in their next election).  My first response would be to check The Almanac of American Politics.  This is not an “online” source.  You’ll need to visit the library.  This shows more initiative than merely “pointing and clicking.” The Almanac of American Politics tells the year the senator is up for election, the presidential vote in the state (the greater the percentage of the vote Bush received, the more politically conservative the state) and the percentage of the vote the senator received in their last election.  If they received 55%, or less, of the vote, they’re vulnerable and will probably attract strong opposition in their next campaign.  A highly visible vote “out of step” with their constituency (e.g., being perceived as “soft” on crime), could effectively be used by a future opponent.  The discussion of the senator in The Almanac of American Politics often provides very useful information about the senator’s political situation and motivations.  Concerning the crime rate, I would try a “google” search (i.e., go to www.google.com and try “2004 crime rate by state” or “violent crime rate by state,” etc.).  Remember, we need data by state, not for the United States as a whole.  You can also obtain much other information through “google” (e.g., 2004 presidential vote by state, etc.).  Additionally, there is much data by state at the following website:  http://www.unl.edu/SPPQ/sppq.html.  Furthermore, The Statistical Abstract of the United States (http://www.census.gov/prod/www/abs/statab.html) contains much economic and political information by state. 


Campaign contributions may also explain why senator’s vote differently than what their ideology would predict.  You can find much information on campaign contributions to individual senators, as well as the flow of money on particular pieces of legislation, at www.opensecrets.org.


Below is a sample outline for the term paper which appears at the end of the coursepack.  If I were taking this course, my actual paper would have some additional elements that I do not have in the outline below.  At this stage of the semester, the purpose of the outline is show a likely path for the paper.  As you prepare to actually write the paper, you will no doubt think of additional arguments/considerations that are useful to include.  The outline for Assignment 11 should not be thought of as “final,” but rather as a “down payment.”   Immediately ahead is a sample outline that covers the same subject as the sample term paper which appears at the end of this coursepack.  Like the sample term paper, the sample outline is not “perfect,” but provides a good idea of what is expected.  Unlike you, the author of these sample items did not have either a sample outline or sample term paper to work from.  Therefore, both your outline and paper should be better than the enclosed sample items.  

Outline for POSC 424 Paper on Senate Voting on the Cantwell Amendment
I. The Cantwell Amendment to the Energy Policy Act of 2005

A. The Cantwell Amendment, offered by Senator Maria Cantwell (D-

Washington) set a goal of reducing oil imports by 40% over the 2005-2025 period (Congressional Record 2005,


S6691-S6700).
1. The Cantwell Amendment states a goal but does not 

mandate any specific means by which the goal is to be attained (e.g., no mention of raising fuel efficiency standards).

B. The Cantwell Amendment was defeated in the U.S. Senate by a 

vote of 47-53 on 6/16/2005.  Therefore, the Cantwell Amendment meets the criteria that at least 20% of those voting voted on the losing side.  
II. Proponent’s Strategy
A. Senator Cantwell argued that her amendment was necessary in 

order to protect America’s access to oil, promote military security and protect the environment.
1. Senator Cantwell made much mention of the fact that her 

amendment only contained a goal and did not place mandates on particular industries (e.g., did not raise fuel efficiency standards) or specify how the U.S. would meet the goal. (Congressional Record 2005, S6691-S6700).


2. Senator Cantwell tried to use President Kennedy’s goal of a 

man on the Moon by 1970 as a rallying cry to unite the nation behind a potentially important national goal. 

a. However, proponents did not use the argument 
advanced many times by New York Times columnist Thomas Friedman (e.g., Friedman 2008, New York Times) that increasing federal gasoline taxes would cause Americans to reduce gasoline consumption (thereby helping attain the goal of the Cantwell Amendment) and transfer money from oil exporting nations (e.g., Iran) which oppose the cause we are fighting for in Iraq and into the U.S. Treasury.  




1. Therefore, opponents of the Cantwell 

Amendment could have been argued to be “unpatriotic.”

B. When promoting legislation that has potentially large immediate 

cost that particular individuals will perceive versus diffuse general benefits that will occur later, an aggregation strategy is often employed.
1. Applied to the Cantwell Amendment, an aggregation 

strategy would mean to bundle the amendment with several other more popular amendments and structure the voting options so that senators could only vote “for” or “against” the entire bundle.
a. Thus, under an aggregation strategy the Cantwell 

Amendment would not have been the sole item being voted upon.


2. Since the Republican Party was the majority party in the 

Senate at the time of the Cantwell Amendment and was overwhelmingly opposed to the amendment, an aggregation strategy was not politically feasible.
III. Opponent’s Strategy
A. Opponents argued that the Cantwell Amendment would have 

immediate direct costs to millions of citizens (e.g., higher energy prices) with little, if any, short-term benefit.

B. Opponents argued that the Cantwell Amendment would almost 
certainly reduce jobs (Hulse 2005 New York Times) and raise fuel efficiency standards (CQ Weekly 2005).

1. Thus, opponents argued that the Cantwell Amendment 
would impose large immediate direct costs that voters would feel immediately.
2. The argument was “framed” in a manner to highlight the 

costs in a manner in which individual voters would see that they would bear the costs of the Cantwell Amendment.  

a. Thus, the costs were not argued as “diffuse” but 

rather “particularistic.”
IV. Explanation of Deviant Senators

A. The fact that only 3 senators deviated from the majority position 

of their party on the Cantwell Amendment shows how unified the parties are (Erikson and Wright article in Dodd and Oppenheimer; Jacobson 2008). 


1. As discussed in class (lecture notes), a highly unified 

Democratic Party pitted against a highly unified Republican Party is quite typical on legislation, such as the Cantwell Amendment, that could properly be termed, “Government Management of the Economy.” 

B. Deviant Democratic Senators

1. Only one Democratic Senator, Debbie Stabenow (D-

Michigan) voted against the Cantwell Amendment.



a. Stabenow’s opposition likely stems from the potential 

“costs” the automobile industry would face from implementation of the Cantwell Amendment.



b. The probably reason that Michigan’s other 

Democratic Senator, Carl Levin, supported the Cantwell Amendment would be Levin’s greater electoral security 

1. In their previous elections Levin received a 

much higher share of the vote than Stabenow. Additionally, Stabenow had to face reelection in 2006 while Levin did not.

C. Deviant Republican Senators


1. Only two Republican Senators, Olympia Snowe (R-Maine) 

and Arlen Specter (R-Pennsylvania) voted in favor of the Cantwell Amendment.



a. Snowe, especially for a Republican, is rather liberal 
and comes from a state which is increasing Democratic in presidential elections (Almanac of American Politics, 2004, 2006)



b. Specter, long a maverick moderate Republican, also 

represents a state which tilts Democratic in presidential elections and has an increasingly strong environmental record (Almanac of American Politics 2004, 2006.

V. Energy Politics After the Cantwell Amendment
A. The large increase in gasoline prices since 2005 coupled with  

concerns about both the reliability of foreign oil and environmental concerns might make legislation similar to the Cantwell Amendment more politically feasible today than in 2005 (Broder  2007, New York Times).
1. While legislation similar to the Cantwell Amendment would 

likely increase gasoline prices in the short-term, the increases would be much less in relation to the total price of gasoline than they would have been in 2005.  
a. Therefore, the “costs” of the Cantwell Amendment 

today would likely be perceived by voters as lower than in 2005.
Assignment 12 – D & O, pp. 249-296, due read by 11/17
Potential quiz questions include: According to Aldrich and Rohde, if parties in Congress become stronger (i.e., leadership is more centralized), what becomes weaker? (249-251: committees) According to Aldrich and Rohde, what are the two factors that conditional party government is based upon? (251: party cohesion and party polarization) What is the relationship between the degree to which seniority is used to determine committee chairmanships and the degree of conditional party government? (252-253: negative - the stronger the reliance of seniority, the less the degree of leadership centralization) Why is the Rules Committee in the House so important to party leadership? (253-254: because it allows the leadership to set the agenda and structure the voting options – i.e., amendments - that will be permitted) Did Gingrich make committee chairs more, or less, powerful in relation to the speaker? (256-258: less powerful) Over the last two decades that Democrats controlled the House of Representatives (i.e., 1974-1994), what was the relationship between the degree of conditional party government and the size of appropriations? (261-262: positive – the greater the degree of conditional party government, the larger the appropriations) What was the impact of party affiliation on congressional behavior on the distributive aspects of the Freedom to Farm Act? (263: very small) How likely do Aldrich and Rohde think party leadership in Congress will fit the conditional party government model in the next five, or so, years? (265-267: quite likely – party cohesion, party distance – i.e., polarization – are likely to be “high” and the current speaker seems willing to concentrate power) According to Gordon, what was Fenno’s description of the House Appropriations Committee of the 1950s- 60s (273-275: collegial, bipartisan, loyalty to the committee as much, or more so, than party, decisions rarely overridden on the House floor, much deference by the Senate Appropriations Committee) In terms of “the power of the purse,” how applicable was Fenno’s description of the House Appropriations Committee of the 1950s- 60s to the 1980-92 period? (278: despite pressures toward greater partisanship, Fenno’s view was still quite applicable to the later period)  From the standpoint of the leaders of the Republican takeover of the House in 1994, what was wrong with having the House Appropriations Committee adhere to the process that Fenno had found? (278-281: bipartisanship would not allow the Republicans to accomplish their policy goals) Relative to the President and the Senate Appropriations Committee, did the House Appropriations Committee become more, or less, powerful once the Republicans took control of Congress? (283: less powerful) In the aftermath of the September 11th attacks, did the House Appropriations Committee become more, or less, powerful? (286: more powerful) By the end of 2001 (i.e., the period following the aftermath of the September 11th attacks), how powerful was the House Appropriations Committee relative to the period described by Fenno? (288: weaker - partisanship increased to pre-September 11th levels) Have the post-September 11th changes in the approach to appropriations made Congress more, or less, powerful relative to the President? (291: less powerful)     

Assignment 13 – D & O, pp. 297-362, due read by 11/24
Potential quiz questions include: In Figure 13-1 on page 299, how would 1970 compare with 1994? (299: in 1970, the mean length of time between a vacancy and a nomination for federal judgeships was approximately 200 days, the corresponding number for 1994 was approximately 700 days) 

According to the discussion of the results of Table 13-1 on page 307, how much impact does the ideological difference between the typical senator (i.e., the median senator) and president have on the length of time it takes to confirm federal judges? (306-307: surprisingly, not a statistically significant impact – and the direction of the coefficient is counterintuitive -increasing distance actually shortens the confirmation period) How does divided government affect the length of time it takes to confirm federal judges? (307-380: increases the length of time) How does an upcoming presidential election affect the length of time it takes to confirm federal judges? (307-308: increases the length of time) According to Binder and Maltzman, what is the relationship between the length of time it takes to confirm federal judges and the performance of federal courts? (314: negative – the more vacancies, the longer it takes the federal appeals court to adjudicate cases) According to Rudder, what is the goal of Republicans-in-government? (319: reduce the role of the federal government, outside of domestic and national security, in the lives of citizens and to reward the wealthy) What is the “starve the beast” strategy? (319: reduce taxes in order to force reductions in government spending/programs) According to Shapiro and Friedman (cited in Rudder), roughly what percentage of the 2004 deficit was attributable to the Bush tax cuts? (321: about 67%) According to the “supply-siders,” how would tax cuts cause government revenues to increase? (323: the growth stimulated by the tax cuts would produce more government revenue by applying a lower tax rate to a larger income base than would be lost through the tax reductions) In terms of reducing the size of government, how successful was President Reagan? (324: not very successful – government was larger when he left office than when he began) After witnessing Reagan’s results in reducing the size of government, what strategy did Gingrich develop to accomplish the task? (330: tax cuts – i.e., starve the beast) Which income group has benefited the most from the George W. Bush’s tax cuts? (332: the wealthy) Why aren’t the Bush tax cuts “net tax cuts” for the poorest 75%-80% of American households? (334: because of the benefit reductions and tax increases necessary to pay for them) According to Rudder, why is the Republican’s tax cut argument effective? (334: because people either indiscriminately support tax cuts and/or don’t understand their impact)  What is the “center of gravity” of the response of congressional Democrats to the Republican tax cuts? (334-335: Clintonesque – balance the budget, keep financial markets happy, create a fiscal situation that covers government programs/entitlements and distributes benefits progressively) 

According to Wolfensberger, should we expect a national crisis, such as the September 11th attacks, to increase, or decrease, the power of the President relative to the Congress? (343-344: increase it) According to Wolfensberger, how much have the September 11th attacks changed the policymaking process? (359: not much – after the initial burst of bipartisanship, old partisan differences surfaced) Does Wolfensberger feel that during the aftermath of the September 11th attacks Congress overly deferred to the President? (359-360: no - he thinks Congress made important contributions) 

Assignment 14 – D & O, pp. 363-410, due read by 12/3
Potential quiz questions include: In the late 1880s, which branch was preeminent in the federal government? (364: Congress) In the late 1870s, who controlled the nomination process of the two major parties in presidential elections? (364-365: state and local party leaders – congressmen, not the president, headed the party) Beginning in 1880, what factors reduced the power of political parties over elections, nominations and administration? (366: elections – the Australian ballot and personal registration; nominations – the direct primary and direct election of senators; administration – creation of the civil service) How did changes in the 1880s impact control of presidential campaigns? (365: presidential candidates took firmer control of their campaigns – public speeches began, etc.) How did electoral changes of the 1880-1890 period impact the leadership of Congress? (368, 370: more centralized it – more in the House than the Senate) In terms of relative power, which branch of the federal government gained during the 1880-1900 period? (370: the presidency) In the early 1900s, how did the leadership of Congress change? (370: became less centralized) How did civil service reform impact the power of the presidency? (373: increased it) Why? (373: freed the president from the traditional patronage system and constrained Congress’ role in administrative affairs) According to Cooper, during the 1969-2004 period, which branch of the federal government was preeminent? (376: the presidency) Relative to the 1950-1969 period, how important are state and local party leaders today? (377: less important) How has the post-1969 realignment of the two major political parties effected party unity and coherence? (378: increased both) What were the elements of the “Textbook Congress”? (381: weak party leadership, strong committees, potential control by cross-party coalitions – e.g., the conservative coalition) What produced the “Textbook Congress”? (381: the north/south split in the Democratic party) How did the Congress of the 1980s differ from the “Textbook Congress”? (383: more partisan, more message driven, more politicized) How did the expansion in regulatory programs of the Johnson and Nixon administrations affect presidential power? (385: increased it)

According to Haynie, what is the difference between descriptive representation and political incorporation? (396: descriptive representation just examines group strength in the government whereas political incorporation measures the degree to which the group is in important decision-making positions and coalitions) Does Haynie think that increasing African American influence in Congress is more likely to come from an increased number of African American members of Congress, or from greater political incorporation? (399: greater political incorporation) Looking at row #4 of Table 17-3 on page 402 (i.e., “Judiciary”), how would you interpret the equity ratio of 2.5 for the 107th Congress (i.e., look at the equity ratio column for the 107th Congress and, counting down from the top, you will see the numbers 8.4, 3.9, 3.4 and 2.5 – now, interpret 2.5)? (402: African Americans comprised 10.8% of the Judiciary committee but only 8.3% of the House, which results in an “overrepresentation” of 2.5%.) Don’t be surprised if on a quiz you are asked to interpret numbers from Table 17-3 on page 402.  How well were African Americans represented on the prestige committees? (402-403: underrepresented on all four prestige committee – Rules, Ways and Means, Appropriations and Budget) According to Table 17-5 on page 406, how supportive of the Leadership Conference on Civil Rights’ positions are African American Democratic congressman relative to other Democratic congressmen? (405-406: more supportive – by roughly 20% to 30%)

Assignment 15 – Term Paper due on 12/8

A Sample Term Paper appears later in the coursepack.
A printed copy  of your term paper is due at the beginning of class on 12/8.  Papers turned in after the class period are considered “late” (i.e., later than the class period on the due date counts as one day late) and lose 10 points per day.  Do not email or fax your paper.  Additionally, do not put the paper under my office door. Papers are considered late until a printed copy appears in my mailbox.  Have the department secretary time stamp your paper before placing it in my mailbox.    The term paper is worth 150 points.   Assignments 6 and 11 are each worth 25 points.  The remaining 100 points come from the paper you submit and are distributed as follows: introduction – 5 pts., use of legislative strategies discussed in Assignment 11 – 30 pts., discussion of deviant senators – 20 pts., use of outside sources (i.e., Congressional Record, newspapers, etc.) – 20 pts., writing style – 20 pts., and organization – 5 pts.   At all costs make sure you comply with each of the following: (1) Do not advocate a position on your issue or make statements which imply a desired outcome (e.g., do not say that the nation needs vigorous border enforcement or the desirability of humane treatment of detainees – you are a scientist examining how the political process operates not an advocate for a particular policy); (2) Make liberal use of the legislative strategies discussed in Assignment 11 by both supporters and opponents of the legislation (e.g., Are the benefits and costs of the legislation general, particularistic, specific, immediate, delayed, etc.?  Why?  Was a commission used?  Why?  Was an aggregation strategy used?  Why?  Why do you think the legislation was voted on at that particular time? Did legislators appear to be following current or anticipated public opinion?, etc.); (3) explain the behavior of deviant senators (i.e., senators who did not vote with a majority of their party); and (4) make liberal use of the sources previously mentioned (New York Times, Washington Post and Los Angeles Times newspapers, CQ Weekly, the Center for Budget and Policy Priorities (www.cbpp.org) and Open Secrets (www.opensecrets.org  – campaign finance information, as well as Senate debate in the Congressional Record) as well as the textbooks and class lectures).  
>>>Final Exam: Monday, December 15th from 10:15 to 
12:15 

>>>The Sample Term Paper begins on the Next Page.
Energy Politics in the U.S. Senate: 

The Cantwell Amendment  to the Energy Policy Act of 2005 

Dyanne Lawlor

Legislative Process

Introduction
On June 16th, 2005, Senator Maria Cantwell (D- Washington) proposed Amendment 784 to H.R. 6, the Energy Policy Act of 2005.  The purpose of the amendment was to implement measures that would, by 2025, reduce projected U.S. Oil Imports  40% and achieve a reduction in total U.S. petroleum consumption (www.cantwell.senate.gov).  According to Senator Cantwell, decreased oil consumption would both reduce U.S. dependence on foreign oil and increase U.S. security.   
The Cantwell Amendment has important economic, environmental, and security implications. The outline of the paper is as follows: (1) discussion of the relevant economic, security, and environmental issues; (2) description of the vote; (3) analysis of the legislative strategies employed by the opposing parties; (4) analysis of deviant senators (i.e., senators voting against a majority of their own party); and (5) concluding observations about energy politics since the Cantwell Amendment.

Economic Interests

From an economic standpoint, the price of oil is predicted to rise over the next 20 years from the current price of $35-$45 per barrel of oil, with the price tag of $150 billion to $250 billion total cost to the American economy, to as high as $100 per barrel (Congressional Record, 6/15/05, S6620).  This could drastically affect economic activity due to high transportation costs.  The Cantwell  Amendment would curtail these costs and actually lower the price of natural gas.  In 2005, the U.S. imported over 13 million barrels of oil a day and is projected to import over 19 million barrels of oil per day by 2025 (Congressional Record, 6/15/05, S6665).  The Cantwell Amendment would reduce the total U.S. demand for oil by 7.6 million barrels per day from this projected amount.  If adopted, the amendment should reduce the amount of oil imported by the U.S. to approximately 1.5 million barrels less than what was imported in 2005 (Congressional Record, 6/15/05, S6621).  
Security Interests 
Currently the U.S. is the top consumer of oil worldwide.  The U.S. consumes approximately 25% of all oil used in the world.  However, the United States controls only about 3% of the world’s oil supply (Congressional Record, 6/15/05, S6623).  On the other hand, the OPEC nations control about 30% of the world’s oil supply.  This leaves the U.S. vulnerable to energy supply shocks and  the willingness of other countries to provide sufficient oil supplies.  This results in a national security threat to the U.S.  The dependence on foreign oil leaves the U.S. at the mercy of an unstable and volatile region.  Unpredictable factors may contribute to an unreliable source of oil in the future.  Accordingly, diplomatic relations with OPEC countries must be handled precariously. This leaves the U.S. at the mercy of the OPEC nations to maintain our current level of oil consumption.  Without legislation similar to the Cantwell Amendment the dependence of the U.S. on foreign oil is likely to increase in the future.  
Another security and economic issue the U.S. must face in the future is the threat of competition from China.  China’s economic growth and oil consumption rates are growing at a very fast rate.  China’s oil consumption is predicted to equal U.S. oil consumption by 2025 (Congressional Record, 6/15/05, S6620).  The increased demand from China will result in higher oil prices in the U.S. 
Environmental Interests
Finally, the Cantwell Amendment addresses important environmental issues.  Since the proposed amendment calls for a reduction in the supply in imported oil over the next 20 years and the demand for oil will simultaneously increase over the same time period, it is important that the U.S. develop  alternative energy options to fulfill this need.  
Technology solutions already exist to dramatically increase the productivity of the U.S. energy supply and replace imported oil.  The introduction of such alternative energy sources, as cleaner burning bio-fuels, will not only lead to a reduction of air pollutants causing global warming, but promote energy efficiency and conservation measures that can improve the economic competitiveness of the U.S. and lessen energy costs for U.S. consumers.  The dangers of oil dependence in a post 9/11 world require the U.S. to look for ways to reduce demand for oil and to increase supply of energy by methods beyond the increase of oil production and consumption (Congressional Record, 6/15/05, S6624).
Description of the Vote

Maria Cantwell (D-Washington) proposed Amendment 784 to H.R. 6, Energy Policy Act of 2005 on June 16th 2005: “To improve the energy security of the U.S. and reduce U.S. dependence on foreign oil imports by 40% by 2025” (www.thomas.gov).   The amendment was defeated by a vote of 47 to 53 (yes = 44 D, 2 R, and 1 I; no = 52 R, and 1 D).  Since 47% of senators voting voted on the losing side (i.e., 47/47+53 = 47/100 = .47), the Cantwell Amendment meets the criteria that at least 20% of senators voting vote on the losing side.   

The Cantwell Amendment had seven co-sponsors, all of whom were Democrats: Dianne Feinstien (CA), Harry Reid (NV), Richard Durbin (IL), Barack Obama (IL), Ken Salazar (CO), Byron Dorgan (ND), and John Kerry (MA).  

The amendment was proposed to strike at the Energy Policy Act’s “oil savings” bill, a provision that would implement measures to reduce oil consumption by 1 million barrels a day by the year 2015.  The U.S. would still be importing 1 million barrels a day more than today with this measure.  However, Senator Cantwell and the supporters of her amendment felt the measure required a more ambitious goal and thus extended the time period and reduction quota to enable the U.S. to reverse the dual trends of increasing oil consumption and dependence on foreign oil supplies (press release, 6/16/2005, www.cantwell.senate.gov). 

The Energy Policy Act of 2005 had several hundred amendments attached to it.  However, popular amendments proposed by Republican supporters of the bill were smaller steps towards energy efficiency (e.g., building/ property standards and energy conservation projects).  Democratic proposals, such as the Cantwell Amendment, called for more drastic changes.  

Legislative Strategy

Proponent’s Arguments


The Democratic Party typically favors governmental regulations concerning environmental quality.  Democrats have long been in favor of increasing federal spending on the environment, while Republicans, on the other hand, have actually advocated decreasing federal funds to the environment (Erikson and Wright 2005, p. 84).
Given the generally strong commitment the Democratic Party has to the environment, it is not surprising that a Democratic senator would propose legislation along the lines of the Cantwell Amendment. The purpose of the Cantwell Amendment is to improve the energy security of the U.S. and reduce the U.S. dependence on foreign oil imports.   Economic, environmental, and security concerns have led American politicians to the same conclusion that it is time to reduce the country’s dependence on fossil fuels (Johnson 2005). In the post- 9/11 contemporary political environment, depending on foreign oil from the oil rich countries Middle Eastern comprising OPEC has become dangerous.  “As long as America’s energy needs are tied to the interests and profits of oil cartels, we have no control over our future.” (Senator Richard Durbin quoted in Hulse 2005).  Clean energy technology that will be implemented to compensate for the reduction in the availability of natural gas will result not only in cleaner air, but in lowering natural gas prices, as the demand for natural gas is subsequently reduced.  Though energy efficient technology solutions already exist, the targets dates set by the Cantwell Amendment would likely stimulate further research and implementation of those technologies (e.g., bio-fuel, etc.) that would both spark energy conservation and provide greater environmental quality. 

In arguing in favor of her amendment, Senator Cantwell attempted to gain support by framing her option as a modification of the already popular “oil provision.”  She did so by proposing a goal, but not specifying the means to achieve the goal (Congressional Record 2005, S6691, S6692).  This made it more difficult for critics to say that she was imposing a direct cost on a particular group of people or energy stakeholders because her amendment specified no mandates for particular energy sectors (e.g., fuel efficiency standards for automobiles).  Senator Cantwell employed the analogy to President Kennedy’s goal of putting a man on the Moon by 1970.  She employed this strategy to conjure the admirable feelings connected with the President as well as the sense of the great accomplishment that was eventually achieved from the realization of this important goal. 


While invoking the Kennedy example may have been a wise political stroke, it is noteworthy that Senator Cantwell did not use the notion of patriotism in her arguments.  For example, she did not follow the approach frequently championed by New York Times columnist Thomas Friedman, who has argued in numerous columns (e.g., Friedman 2008) that if the U.S. raises gasoline taxes some of the increased revenue from higher gasoline prices will go to the U.S. and not to oil exporting nations, such as Iran, who both have large quantities of oil and oppose our Iraq War policy.  Thus, Friedman is arguing that it would be patriotic to enact policies, such as the Cantwell Amendment, that would reduce the oil revenue that America’s opponents receive.  Additionally, Friedman (2008) argues that since the level of democracy in oil rich nations such as Iran and Venezuela decreases as oil revenues increase, reducing Iran and Venezuela’s oil revenue, through conservation brought about by federal policies that increase gasoline prices, would help the U.S. better attain the goal of increasing democracy around the world.   Senator Cantwell (Congressional Record 2005, S6691-S6700) never advanced an argument similar to Friedman’s.

The proponents of the Cantwell Amendment are decidedly disadvantaged when it comes to the cost-benefit structure analysis of the proposed legislation.  There are few short-term benefits from the implementation of the amendment.  However, Senator Minority Leader Reid (D-Nevada) did argue that his state, Nevada, would gain short-term benefits from the Cantwell Amendment because compliance with the amendment would almost certainly boost Nevada’s developing geothermal industry (Congressional Record 2005, S6700).  However, no other senators who supported the Cantwell Amendment cited short-term economic or environmental benefits for their state.   

The future benefits from the Cantwell Amendment include cleaner air and a reduction in America’s dependence on foreign oil (and therefore a reduction in the national security threat).  Additionally, the Cantwell Amendment should lead to the development of cheaper, more energy efficient energy sources (e.g., future prices of natural gas).  Unfortunately for supporters of the Cantwell Amendment, many of the aforementioned benefits (e.g., clean air) are general benefits (e.g., those who are not stricken with cancer because of cleaner air do not know who they are). 

 On potentially useful approach in generating support for legislation that, by itself, is difficult to support is to pursue an aggregation strategy.  Applied to the Cantwell Amendment, this would mean bundling the amendment with several other amendments and structuring the voting options so that the combined (aggregated) legislation could only be voted on in its entirety.  Thus, potentially less popular amendments, such as the Cantwell Amendment, could not be voted on separately.  Senators would have to “accept” or “reject” the entire bill.  However, since the Republicans controlled the Senate in 2005 and were almost unanimously opposed to the Cantwell Amendment, the majority leadership of the Senate had no desire to place the Cantwell Amendment within a broader legislative package.
Opponent’s Arguments  
The Republican Party has traditionally either favored reducing the speed with which Democratic environmental proposals would reduce pollution or opposed the reforms entirely.  The basic Republican approach to energy policy during the George W. Bush Administration has been to try and increase energy supply and rely on the free market to determine energy prices (Freidman 2006).  The Bush Administration even opposes legislation offered by congressional Republicans that would require reducing U.S. oil consumption by one million barrels a day within 10 years (Hulse 2005).  The goal offered by congressional Republicans is substantially less than that mandated by the Cantwell Amendment.  
Applying the basic Republican environmental strategy to the Cantwell Amendment, Senator Alexander (R-Tennessee) compared the goal of reducing dependence by 7.6 million barrels of oil a day to President Kennedy saying “Let us put a man on Mars in 1970, rather than the more realistic goal of putting a man on the Moon” (Congressional Record, 6/15/2005, p. S6623).  Senator Alexander thought a more realistic goal would be to reduce oil dependence by only 1 million barrels per day, not the 7.6 million barrels per day required by the Cantwell Amendment (Congressional Record, 6/15/2005, p. S6623).  
Additionally, opponents of the Cantwell Amendment claimed the ambitious goals of the amendment could have a deleterious effect on the American economy by destroying jobs, raising fuel prices, and ultimately disappointing the consumers who raised their expectations about our ability to reduce U.S. dependence on foreign oil. Republican leaders “called it a pie in the sky plan that would upend the nation’s transportation system” (Hulse 2005).  Opponents argued that the Cantwell Amendment would require sharp increases in vehicle fuel efficiency standards, thus hurting U.S. automakers (CQ Weekly 2005). 


The cost-benefit structure of the Cantwell Amendment provided an easy target for opponents. The benefits of the amendment (cleaner air and energy security) are general, but the costs (higher gasoline and energy prices) are specific.  People would certainly notice the higher energy costs immediately.  On the other hand, the public will not see any immediate benefits of reduced dependence on foreign oil.  It might be difficult to attribute less air pollution to the Cantwell Amendment. Reductions in air pollution, for example, may be due to a combination of a number of different environmental efforts, and therefore can not be fully attributed to the passage of this one amendment.  Furthermore, the Cantwell Amendment would take 20 years to fully implement.  This time gap between the passage of the amendment and the goals it projects to attain makes it hard to trace the results back to the actions of senators serving in 2005.  
While the benefits of the Cantwell Amendment are delayed, some of the costs of the amendment are immediate.  Since much of the benefit of the amendment will not be felt for 20 years, voters may not link the eventual outcomes with the initial passage of the legislation.  Additionally, since voters will not know if they personally benefited from the legislation (e.g., the amendment resulted in them not contracting cancer) the political benefits tend to be more “general” than “particularistic.”  While the benefits of the amendment are delayed, the short-term costs of implementation are both immediate and highly visible to voters.  The Cantwell Amendment will likely require higher taxes for the development of energy efficient technology.  Moreover, the federal gasoline tax would likely be increased in order to help achieve the reduction in gasoline consumption required by the Cantwell Amendment.  Politically, the combination of immediate and specific costs and delayed general benefits makes the Cantwell Amendment a difficult “sell.”  Moreover, since most senators will not be in office 20 years later, even if there were political benefits from the legislation, those supporting the Cantwell Amendment would be unlikely to reap them.  
Deviant Senators
Democrats

All Senate Democrats, except Senator Stabenow (D-Michigan) voted in favor of the Cantwell amendment.  The explanation for her behavior on this vote can likely be attributed to the fact that she represents the state of Michigan, the home of United States automobile industry.  Senator Stabenow represents a constituency that is auto-industrial based (and accounts for one in ten jobs, directly or indirectly, in the U.S - (www.wikipedia.org).  Furthermore, nearly $100,000 of her 2004 campaign contributions came directly from the three major automobile companies based in Michigan: General Motors, Ford, and DaimlerChrysler (www.opensecrets.org).  These three automobile companies were three of the top ten contributors to her campaign (www.opensecrets.org).    These companies would definitely oppose the reduction of foreign oil imports proposed by the Cantwell Amendment because this could result in a potential economic crisis for the production of their oil dependent vehicles.  

 While she opposed the Cantwell Amendment, Senator Stabenow’s typically supports environment positions between 75%-80% of the time (League of Conservation Voters, www.lcv.org).  On the Cantwell Amendment, Senator Stabenow voted opposite to Michigan’s other Democratic senator, Carl Levin.  Levin typically supports environment positions at a level similar to Stabenow (www.lcv.org).  Both Stabenow and Levin have somewhat lower environment scores than Non-Southern Democrats typically do.  However, they are still much more supportive of environmental legislation than the typical Republican senator (2005 LCV Democratic Average – 82.2%, 2005 LCV Republican Average 15.5% - calculated from www.lcv.org).  Judging from his questioning of Senator Cantwell in the debate on her amendment (S6691, S6692), Senator Levin supported the measure because it only involved goals and did not mandate an increase in the fuel efficiency standards that Michigan’s auto industry opposes.  Thus by voting “yes,” Senator Levin probably felt he could appease Michigan’s environmentalists, who vote heavily Democratic, while not adversely impacting Michigan’s auto industry.  Additionally, Senator Levin was more “politically secure” than Senator Stabenow.  Senator Levin defeated his last general election opponent by 22% and was not up for reelection in 2006 (www.wikipedia.org).  However, Senator Stabenow won her previous election by only .2% of the vote and was up for reelection in 2006 (www.wikipedia.org) .  Therefore, Senator Levin could better afford to risk the loss of votes from being perceived as not supportive enough of the automobile industry than could Senator Stabenow.   
Republicans


There were only two Republican senators who voted in favor of the Cantwell Amendment, Olympia Snowe (R-Maine) and Arlen Specter (R-Pennsylvania). As with Senator Stabenow, constituency may help explain both  of the two deviant Republicans.  Senator Snowe is a self-identified moderate Republican and also has earned the reputation for being the most liberal Republican in the Senate (www.wikipedia.org).  Snowe is more liberal than the average Republican Senator, as evidenced by her 2005 ADA liberal score of 65% (the average ADA score of Republican senators in 2005 was 13.4% - calculated from www.adaction.org).  For sake of comparison, the average score among Democratic senators in 2005 was 94.4% (calculated from www.adaction.org).  While less supportive of environment legislation than a typical Non-Southern Democratic senator, Senator Snowe’s League of Conservation scores are typically in the 60%-75% range (www.lcv.org) .  This is much higher than the typical Republican senator (www.lcv.org).  Furthermore, her voting record reflects consistently strong support for environmental protections on energy and oil issues (www.ontheissues.org).  Finally, presidential politics might explain how Snowe could “afford” to vote against the position of the vast majority of Republican senators.  Maine is an increasing Democratic state.  While Gore defeated by Bush by approximately 5% of the vote in 2000, Kerry defeated Bush by approximately 9% of the vote in 2004 (www.cnn.com) .  Thus, Senator Snowe, by representing a relatively liberal state which is increasing in it’s liberalism, would bear less political cost in supporting the Cantwell Amendment than would a Republican senator from a more Republican state.  
While the aforementioned reasoning explains why Senator Snowe supported the Cantwell Amendment, it does not explain why Maine’s other Republican senator, Susan Collins, opposed it.  While Snowe is slightly more liberal than Collins (www.adaction.org) and slightly more supportive of environmental legislation than Collins (www.lcv.org), the two senator’s voting records are quite similar.  Additionally, electoral security would not seem to be a likely explanatory factor of the voting difference between Snowe and Collins.  While Senator Snowe defeated her 2006 Democratic opponent  by 48%, Senator Collins won by a solid 15% margin over her 2002 Democratic opponent (www.wikipedia.org) .  
The only other Republican to vote in favor of the Cantwell Amendment was Arlen Specter of Pennsylvania.  Specter is known as a maverick and is more liberal than most Republicans (2005 ADA score of 45% versus 13.4% for the average Republican - www.adaction.org).  He is also a member of Republicans for Environmental Protection.  Additionally, Senator Specter has a consistent record of voting in favor of energy and oil conservation legislation  (www.ontheissues.org).  Furthermore, Specter’s home state, Pennsylvania, is a moderate to liberal state.  Pennsylvania has voted either majority or plurality Democratic in the last four presidential elections (www.ballot-access.org).   Moreover, Pennsylvania is a member of CESA (Clean Energy States Alliance).  Such membership may indicate a more environmentally conscious state.  Thus, being a political moderate (Almanac of American Politics 2004) and representing a relatively liberal state that has a progressive record on the environment, Senator Spector’s support for the Cantwell Amendment is not that surprising.  

Probably the most important fact about deviant senators is how few there were.  Only 3 senators out of 100 voted opposite to a majority of their party.   As mentioned in class lecture, environment legislation is part of the congressional voting dimension on which the parties differ most: government management of the economy (lecture POSC 424).   Obviously, the partisan nature of the Senate vote on the Cantwell Amendment reflects a long-standing difference between the political parties on legislation of this nature.
Outcome

Despite the deviance of the two Republican Senators, the proposed amendment was defeated by a final vote of 47-53.  Cloture could not be invoked because the required 60% of the vote could not be obtained. Given that Republicans held the majority of seats in the Senate at the time of the vote the outcome is not surprising.  The Senate vote on the Cantwell Amendment also demonstrates the high level of intraparty cohesion and interparty difference among the two political parties (Jacobson 2009).  The low number of party defectors substantiates the role that party affiliation plays in the legislative process.
Post-Cantwell Energy Politics 

As Broder (2007) suggests, conservation measures such as the Cantwell Amendment may find a more hospitable response from legislators today than in 2005.  While Americans do not like higher energy prices, recent energy price hikes may have convinced enough voters that high energy prices are going to continue for the foreseeable future.  If so, policies that have relatively small immediate costs (i.e., raise short-term energy prices by small amounts), but potentially reduce both the long-term rate of increase in energy costs and pollution, may become more political feasible.  Thus, the politics of energy may have entered a phase where policies that impose immediate direct costs and result in delayed benefits may actually be politically feasible. 
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Final Examination: Monday, May 15th from 10:15 to 12:15 

Useful Websites

     The following websites contain useful information about either politics or government agencies:

One-Stop Government Resource: http://www.firstgov.gov

For information about an individual Congressman or Senator try Project Vote Smart:

     http://www.vote-smart.org  or possibly Roll Call: http://www.rollcall.com
For information about  campaigns and elections: http://www.camelect.com  or 

     for opinion polls and other political information: http://www.InsidePolitics.org
For information on the two major political parties try:

     http://www.rnc.org (Republican National Committee)

     http://www.democrats.org  (Democratic National Committee)

For the Federal Election  Commission: http://www.fec.gov
For information about the House or Senate: http://www.house.gov   or

     http://www.senate.gov  or the Dirksen Center’s Congress link:

     http://www.congresslink.org
To contact Congressman Horn:

     http://www.house.gov/horn     Email: steve.horn@mail.house.gov

To contact the Library of Congress: http://thomas.loc.gov

For information about the President: http://www.whitehouse.gov
Student Financial Aid: http://www.ed.gov.finaid.html

Medicare/Medicaid: http://www.hcfa.gov
Veterans:  http://www.va.gov
Internal Revenue Service: http://www.irs.gov
California: http://www.ca.gov
Assignment 1 – Sinclair, pp. 1-56 due read by 8/31

Potential quiz questions include: What is “unorthodox lawmaking”?  How does unorthodox lawmaking differ from the traditional bill-becomes-a-law process?  Why has unorthodox lawmaking become more prevalent?  What are multiple referrals and why are they used?  In which chamber is it easier to pass legislation, the House or the Senate?  Why? 

Assignment 2 – Sinclair, pp. 57-120 due read by 9/10

Potential quiz questions include: What is the purpose of reconciliation?  How has the role of party leaders in the reconciliation process changed over the past several decades?   What is omnibus legislation?  Why do party leaders sometimes use omnibus legislation?   What do omnibus legislation, the budget process and summits have in common?  How are they different?  What has been the impact of the budget process reforms of the 1970s?  According to Sinclair, why has the legislative process changed over the past several decades?  What was unorthodox about national service legislation?        

Assignment 3 – Sinclair, pp. 121-183 due read by 9/17

A reminder: Assignment 5 is due on 10/1.  It might be useful to begin preparing your answer.  Remember work alone, not in a group.  

Potential quiz questions include: What was unorthodox about the patients’ bill of rights?  What is the importance of a unanimous consent agreement in the Senate? What were the differences between the Republican and Democratic leadership concerning the type of patients’ rights legislation they each preferred?  Which interest groups sided with the Republican leadership?  Why does Sinclair term the omnibus drug bill a “designer legislative process”?  How does the post-reform budget process make possible significant policy change?

Assignment 4 – Sinclair, pp. 184-236 due read by 9/24

Potential quiz questions include: What was the primary method through which the Republicans in Congress tried to pass/implement their agenda?  Why did Republicans in the House not want to increase the debt limit?  Politically, who gained from the budget shutdowns?  Roughly, by what percent were the Republicans able to reduce domestic expenditures by?  Does Sinclair consider this amount to be “incremental”?   How did President Clinton’s positions on taxes and the budget differ from the Republicans?  For the types of legislation that unorthodox lawmaking is typically used, do unorthodox procedures increase or decrease the likelihood that the legislation will eventually become law?

Assignment 5 – Assignment 5 is to be submitted by 10/1
One way to judge the legislative process is from the standpoint of what is sometimes refereed to as the “responsible parties model.”  In such a model, political parties offer voters a distinct choice at elections.  After the election, voters should then expect the party that controls each chamber to enact the policies that the majority party favored in the preceding election.  From this perspective, is unorthodox lawmaking a step in the right or wrong direction?  Why?  Use examples from Barbara Sinclair’s, Unorthodox Lawmaking, 2nd edition, to support your position.   Make sure you work alone.  I do not want a “group” project.  Submitting similar papers and telling me that you “studied    

together” is not acceptable.  Avoid using quotations.  In my experience, the primary reason people use quotations in this type of assignment is that they do not understand the material well enough to put it in their own words.  When you cite the text, use the author’s last name and the page number in parentheses (e.g., Sinclair, p. 39).  The paper is to be no longer than 4 typed pages.  I will not read anything after the fourth page.  You may single space if you so desire.  The paper is due at the beginning of class on October 1, 2001.  Remember from the syllabus that papers submitted later than the end of the class period on the date due are considered one day late and lose 10 points.  If you give your paper to someone else to turn in, you bear the responsibility if they do not submit the paper on time.  Excuses such as you forgot “to save” on your computer or that your typewriter ribbon broke will not be accepted.  The paper is worth 60 points. The points will be distributed as follows: 25 for the strength of your ideas; 25 for how well you use the assigned literature to support your ideas; and 10 for mechanics.  Only typed papers will be accepted.  Do not e-mail or fax your paper.  

Assignment 12 – Wright, pp. 1-74 due read by 11/19

Potential quiz questions include: How does Wright’s view of interest groups differ from Milbrath and Bauer, et. al.?   Why did interest groups begin to form after the Civil War?  Does our constitutional system help or hinder the formation of interest groups?  Why? What is the “free rider” problem?  How do interest groups solve the “free rider” problem?  Is the Congressional Black Caucus an interest group?  How much of an impediment has the tax code been to interest groups?  What is the fundamental constitutional principle in regulating interest groups?  How does lobbying change when the arena shifts from committees to floor deliberations?  How is the legislative process biased toward the status quo and against change?  What conclusions does Wright draw about the role of interest groups in the policy process from the Family and Medical Leave Act?  According to Wright, how do interest groups affect a legislator’s policy positions?  (directly, indirectly – if indirectly, through what?)

Assignment 13 – Wright, pp. 75-149 due read by 11/26

Potential quiz questions include: According to Wright, what are legislators “uncertain” about?  From a legislator’s standpoint, what is the weakness of an accurate (yes, accurate, not inaccurate) poll?   What does the “Bork” case study tell us?  What is Wright’s view of misrepresentation as a lobbying strategy?  What counters misrepresentation?  Relative to the costs of campaigning, is the average PAC contribution becoming more, or less, important to congressmen?  Why?  Why is the NADA case study important?  What is Wright’s view of the legislative influence model?  What is Wright’s view of the electoral influence model?

Assignment 14 – Wright, pp. 150-201 due read by 12/3

Potential quiz questions include: According to Green and Krasno, do individual PAC contributions buy much electoral support?   What are the most important types of information that PACs supply legislators?  What dictates the particular issues on which a PAC will lobby?  According to Wright, how much influence do rank and file members of a PAC have over the PAC’s political contributions?  Does Wright think that PACs are distorting geographical representation?  Why or why not?  What are “peak associations”?   Do “peak associations” decrease or increase conflict among groups?  Why?  What is the problem with policies that provide concentrated benefits and diverse costs?  What is the importance of Nie, Verba, and Kim’s research on organizational involvement?  What does Wright think of attempts to subsidize collective political action?  Why?  What is Wright’s view of the campaign reform measures he discusses?  Why?  What is Wright’s view of the lobbying reforms he discusses?  Why?   Does Wright have basically a positive or negative view of the operation of interest groups?  Why?

Assignment 1 – Arnold, pp. 3-87 due read by 2/2

Potential quiz questions include:  According to Arnold, what is the dominant goal of members of Congress? (5: reelection) What drives legislators to become coalition leaders? (make sure you read the footnotes throughout the book) (8: policy interest/altruism – casework, etc. provide larger and more secure electoral dividends than policy leadership)  Why have studies typically found that constituency opinion has little impact on congressional voting? (9-10: because legislators are anticipating future opinion, not necessarily current opinion – which Arnold calls “potential preferences”) Why do members of Congress worry about voters who do not have an opinion on the issue the member of Congress is voting on? (11: because they might develop an opinion later) Besides citizen preferences, what other factor about the citizenry do members of Congress need to know before they vote? (12: the likelihood that citizens will incorporate their own policy preferences into evaluations of congressional candidates) According to Arnold, what alters citizen preferences? (13: costs and benefits and the causal chain that links a policy instrument with policy effects) What are the four decisions that are the essence of “The Logic of Congressional Action”? (14-15: (1) citizens establish policy preferences by evaluation of policy proposals and policy effects; (2) citizens choose among congressional candidates by evaluating candidates policy positions and effects of positions; (3) legislators choose among policy proposals be estimating citizen actual and potential preferences and the probability that citizens will use these positions in making voting decisions; (4) coalition leaders select policy and strategy by anticipating legislator’s electoral calculations – thus, they anticipate elements of #3)  According to Arnold, what are the two debates about the cause and effect of policies? (19: prospective – what would happen if a policy is adopted; retrospective – how has past policy worked) What is the difference between a single-stage and a multi-stage policy (don’t say “the number of stages) (19-20: immediate effects, like who benefits directly from a tax cut as opposed to raising fuel efficiency standards with a later benefit of cleaner air) What are the four factors that affect the probability that citizens will learn the costs and benefits of a particular piece of legislation? (31: magnitude, timing, proximity and the availability of an instigator) Why is politics more complicated than economics? (33: economics assumes self-interest whereas politics shows that people are motivated by values other than greed, but that they differ on which of these “non-greedy” values are most important) What is “traceability”? (47: a citizen can trace an outcome back to a legislator’s behavior) Is traceability greater for early-order or later-order effects? (50: early-order) How accurate is the following statement: “in a large class of legislative undertakings the electoral payment is for positions rather than for effects”? (71: sound as long as it concerns benefits rather than costs and involves electoral payment rather than electoral retribution – When legislators are dealing with costs that are directly traceable to their own actions, however, these costs might activate inattentive publics) If a gas tax is not politically feasible, how can Congress raise the cost of gas? (75: decontrol it and let the oil companies take the blame and add a windfall profits tax) From a legislator’s point of view, why aren’t formula driven policies desirable? (75: don’t allow the legislator to take credit for the benefits) What is the policy danger in “politically compelling policies”? (79: legislators must support the legislation, even if the means are poor, because to oppose it would make it look like the legislator opposed popular ends/goals – like reducing cancer)  

Assignment 2 – Arnold, pp. 88-146 due read by 2/9

Potential quiz questions include: What is a “linkage strategy”? (93: link a new program’s ends to an existing popular program thus making the new program seem like an extension of an existing program rather than something new) How does a “procedural strategy” operate? (99-100: force votes on options that some/many members would rather not vote on individually – e.g., a separate vote on a congressional pay raise as opposed to a vote to raise the salaries of all federal employees) What is the impact of legislative delegation to the executive, secrecy and omnibus legislation on the traceability to legislator’s? (101-103: reduces it) Why do incremental reforms often not solve the problem? (110: they remove part of the drive for greater change – e.g., Medicare reducing the drive for national health insurance) Why did the Urban Development Action Grant program die? (115: to ensure political support they kept broadening the eligibility until the benefits per district were so low that no one had much of a stake in the program)  What are the four factors that determine why Congress enacts the policies it does? (119-122: 1 – what attentive and inattentive citizens will allow; 2 – what coalition leaders propose; 3 – what strategies coalition leaders and opponents adopt; 4 – what legislators themselves prefer) Do secrecy, unrecorded votes and restrictive rules inherently favor more attentive or inattentive groups? (131-132: neither) What types of programs are political the most easily defensible?  (137: those that deliver large and regular benefits to the same citizens year after year) When are legislators forced to serve diffuse or general interests? (142: If a program’s general costs or benefits are salient, or potentially salient, to substantial to a substantial number of citizens coupled with coalition leaders employing procedures that encourage traceability for general effects rather than for group or geographic effects)

Assignment 3 – Arnold, pp. 149-223 due read by 2/18

A reminder: Assignment 5 is due on 3/1.  It might be useful to begin preparing your answer.  Remember work alone, not in a group.  

Potential quiz questions include: Which type of  economic policy is more “rational”,  “explicit” or “derivative”? (151: explicit – because the derivative economic policies are basically considered on a noneconomic basis) Why would we expect Presidents to be more oriented toward balancing the budget the Congress? (156: Executives stand alone before all voters whereas congressmen gain through particularistic benefits for their own district – but are blameless for general economic conditions because “other” congressmen caused them) How fully does the evidence support the expectation that Presidents will be more oriented toward balancing the budget than Congress? (156-157: mixed) Was the Kennedy Administration able to convince Congress of the wisdom of a tax cut on intellectual or political grounds? (163: political) During the 1970s, was it Congress or the President who was most responsible for the deficit? (168: the President) According to Arnold, is roll-call voting biased toward increased spending? (175: No – Legislators approve spending increases quite regularly when they vote on programmatic amendments filled with group and geographic benefits, but they appear far more fiscally conservative when they are forced to take public positions on explicit economic policy such as voting for across-the-board cuts to balance the budget) In 1982, an election year, how was Congress able to raise taxes? (186: 1 – structure the process so that legislators voted on explicit economic policy rather than on specific tax provisions; 2 – taxing corporations – that can’t vote – as opposed to individuals; 3 – Republicans – who needed to show they could run the government – wouldn’t be abandoned by business because business had nowhere else to go; 4 – coalition leaders protected members by having them on vote on a conference report – little or no traceability) How does the history of the federal income tax from 1913 to 1981 fit with Arnold’s theory? (196-197: perfectly – started by only taxing the richest 2% - so few were hurt; 2 – legislated increases during war periods – when there would be virtually no opposition; 3 – non-legislated increases would come about through inflation – thus, no vote necessary; 4 – members of congress could vote for income tax cuts while relying on inflation to increase revenues) From the standpoint of maximizing political support for incumbents members of Congress, which more desirable, across-the-board tax reductions or tax preferences? (198-200: tax preferences – 1 – across-the board cuts don’t yield that large – i.e., perceptible - benefit to many individuals; 2 – tax preferences are noticeable to those who receive them; 3 – tax preferences typically, at least in the beginning, don’t cost that much; 4 – legislators can aid groups that might be difficult to help with direct subsidies – e.g., not directly giving the poor money but rather increasing the earned income tax credit; 5 – tax preferences don’t use any of their benefits on bureaucracy) Politically, what is the difference between tax preferences and regulatory programs? (200: while both accomplish about the same thing, tax preferences give group benefits while regulatory programs deliver group costs and are, hence, less politically attractive)  What triggered the great increase in tax preferences during the 1970s? (202: inflation – tax preferences offered legislators a method of reducing the increased income tax liabilities that voters were paying) Why in 1981 did Congress pass a large tax cut despite a large federal deficit? (206-208: 1 – inflationary increases in income tax liabilities set the stage; 2 – Reagan demanded it; 3 – Reagan offered political cover by arguing that supply-side effects would yield greater government revenue and that Congress was being fiscally “responsible”; 4 – looked like a member of Congress, if they voted no, would be harming the president’s economic program) After passing tax bills loaded with tax preferences, why, in 1986, did Congress pass a bill that reduced tax preferences and noticeably lowered tax rates? (213-215: instead of a contest between reducing a few tax preferences with imperceptible general benefits, they tried reducing many tax preferences with large, perceptible general benefits – i.e., much lower rates – with 80% of taxpayers getting a tax cut, thus few with an incentive to punish legislators) 

Assignment 4 – Arnold, pp. 224-276 due read by 2/23

Potential quiz questions include: Prior to 1970, who benefited most from government regulation of the oil industry? (227: the oil industry by restricting imports thus causing domestic prices to rise) Why did the “politics of energy” change the beneficiaries of energy policy over the 1970s? (233-234: large increases in the price of oil) Why did President Carter’s 1977 energy plan fail to pass Congress? (234: 1 – imposed a tax on consumers that could be traced to legislator’s votes; 2 – the oil companies opposed it because the tax would go to the government whereas raising energy costs by decontrol would benefit the oil companies) Despite strong support in public opinion polls, why was Congress so reluctant to approve gasoline rationing? (242-243: because those who would lose under a rationing plan – e.g., traveling salesmen – would possibly vote against incumbents who supported rationing) What factors caused the Congress to finally approve gasoline rationing? (242-243: Congress broke the traceability chain by giving the President the authority to impose rationing unless Congress overrode it, which, given the 2/3rds requirement, was almost impossible to attain) Does Arnold think the party performance model is a realistic way for citizens to have a high degree of control over public policy? (274 No: voters have been increasingly pulling away from parties) Did the 1970 era reforms (e.g., open meeting, open rules and unlimited recorded votes) increased the control citizens have over public policy? (275: no, they have reduced it) Why? (275: because special interests are much more able to use these procedures than average citizens) According to Arnold, what offers the best hope of reducing the power of special interests?  (275-276: to force legislators to stand up an be counted on broader policy issues in which general benefits overshadow groups and geographic effects and to curtail the ability of legislators to offer particularistic amendments)

Assignment 5 – Assignment 5 is to be submitted by 3/1
Using what you have read in Arnold, describe how you think coalition leaders and legislators would approach the topic of allowing citizens to privately invest part of the money they pay in Social Security taxes (i.e., privatize Social Security)?  By what process would coalition leaders try to draft a proposal (e.g., legislative hearings, a task force, a commission, etc.) and how would legislators going about making up their mind on how to vote on such a plan?  Do a separate analysis for each major political party (i.e., one analysis for the Republicans and another for the Democrats).  Do you think Congress would enact such a plan?  What events could change legislator’s calculations?  Use examples from R. Douglas Arnold’s, The Logic of Congressional Action, to support your position.   Do not advocate a position on privatizing Social Security or make value laden statements on the subject (e.g., Congress will probably “ruin” Social Security by privatizing it).  I am not after your opinions, but rather your analysis of how Congress operates.   Make sure you work alone.  I do not want a “group” project.  Submitting similar papers and telling me that you “studied together” is not acceptable.  Avoid using quotations.  In my experience, the primary reason people use quotations in this type of assignment is that they do not understand the material well enough to put it in their own words.  When you cite the text, use the author’s last name and the page number in parentheses (e.g., Arnold, p. 39).  The paper is to be no longer than 4 typed pages.  I will not read anything after the fourth page.  You may single space if you so desire.  The paper is due at the beginning of class on October 1, 2001.  Remember from the syllabus that papers submitted later than the end of the class period on the date due are considered one day late and lose 10 points.  If you give your paper to someone else to turn in, you bear the responsibility if they do not submit the paper on time.  Excuses such as you forgot “to save” on your computer or that your typewriter ribbon broke will not be accepted.  The paper is worth 60 points. The points will be distributed as follows: 25 for the strength of your ideas; 25 for how well you use the assigned literature to support your ideas; and 10 for mechanics.  Only typed papers will be accepted.  Do not e-mail or fax your paper.  

Assignment 11 -  Assignment 11 is to be submitted by 4/19.

One of the central themes of Gary Jacobson’s, The Politics of Congressional Elections, 6th edition, is that often times the type of behavior that helps congressmen and senators win re-election is in conflict with what leads parties to be responsible (i.e., for one party to differentiate itself from the opposition party and to pass the legislation the victorious party favored).  How does Jacobson make this case?  Do you agree or disagree?  Why?  All of the same “rules” for Assignment 5 apply to Assignment 11 (i.e., number of pages, working alone, use of quotations, penalties for late papers, point value of the assignment, distribution of points, etc.).    

Assignment 12 – Berry, pp. 1-60 due read by 4/26
Potential quiz questions include: What is “postmaterialism”? (2: quality of life issues)  How would Berry assess the “privileged position of business”? (2-7: it isn’t that privileged) What constituted “the iron triangle”? (10: lobbyists from the lead trade group, congressional committee members and top government bureaucrats) In terms of interest groups, how does the 1964-1980 period differ from the 1948-63 period? (10: many more citizen groups, most liberal)  In terms of interest groups, how does the 1981-92 period differ from the 1964-80 period? (10-11: rise of more conservative groups) Which would be more likely to fit the views of a moderate voter: the two major political parties or interest groups? Why? (17: political parties – they try to win a majority of the votes and, hence, must cater to moderate voters whereas interest groups may actually gain by being “extremist”) Is the number of citizen advocacy groups growing at a greater or lesser rate than non-citizen advocacy groups? (17: greater rate)  In terms of testimony before Congress how do citizen groups fare in relation to corporations? (20: more testimony from citizen groups)  Why? (21-22: 1 - citizen groups use an information strategy to influence public opinion; 2 – they orchestrate their budget toward research and dissemination of information; 3 – citizen groups are often the initiators of the legislation under consideration) What was the role of the Ford Foundation in increasing the number of citizen groups? (26: supported 16 public interest law firms) According to Berry, what was the most important structural change in government that had resulted in increasing the number of citizen groups? (29: the growth of the federal government) What is the relationship between Maslow’s hierarchy of needs and postmaterialism? (38: postmaterialism is the attempt to attain higher order needs)   According to Berry’s data, how did the agenda of Congress change from 1963 to 1991? (45: from 2-to-1 material to 3-to-1 postmaterial) Why use “theories”? (49: helps scholars organize data and analysis; gives us the tools to understand broad, complex social processes) According to Berry, in what way has postmaterialism most harmed the traditional liberal concern about economic equality? (55-57: by shifting the legislative agenda away from issues relating to the poor)

Assignment 13 – Berry, pp. 61-118 due read by 5/3
Potential quiz questions include: According to Berry, was business or postmaterialists the major initiating force for legislation before Congress in 1991? (65: postmaterialists) Typically, was it interest groups or legislators who took the early steps in getting an issue “recognized”? (68: interest groups) Is business influence in Congress decreasing much because of disagreements among business interest groups? (80: no) How much support does Berry find for “iron triangles”? (81: not much) According to Berry’s data, how do liberal and conservative citizen groups differ in their degree of legislative activity? (89: liberal groups are much more active) How has direct mail affected conservative citizen groups? (95-96: hurt them because they spend so much money on it that there is little left for lobbying) According to research cited by Berry, did the “Harry and Louise” campaign change public opinion? (98-99: no) Why haven’t conservative citizen groups lobbied Congress as much as liberal groups? (100-102: the have been more concerned with changing public opinion, aligning themselves with the Republican party and mobilizing activists) How did the Christian Coalition’s “Contract with the American Family” fare in

Congress? (112: not well) In terms of the agenda, how much difference does it make which party controls Congress? (114: a lot)  In terms of legislative outcomes, how much difference does it make which party controls Congress? (114: much less so than concerning the agenda) How much support does Berry find for the view that the more interest groups participate, the harder it becomes to pass legislation? (116: not much) 

Assignment 14 – Berry, pp. 119-170 due read by 5/10

Potential quiz questions include: How do Berry’s findings concerning how citizen groups are covered by television differ from Danielian and Page? (122: Berry finds that citizen groups received more favorable coverage) How did coverage of liberal groups differ from conservative groups? (123: coverage of liberal groups was more positive) Has media coverage of business become more positive or negative over time? (128-129: more 

negative) What is the “bias” in media coverage? (129: to favor simplicity over complexity, emotion over fact, and most importantly, game over substance) In terms of quotations, how do activist think tanks fare? (141: not well) What is probably the greatest political resource of business? (152: the belief that government needs to pay attention to business in order to maintain prosperity) According to Olson, is joining a citizens group “rational”? Why or why not? (154: not rational: you get the benefits regardless of whether or not you join) If, as Berry suggests, conservative citizen groups haven’t had much success legislatively, where has their success come? (161: electorally) Does Berry think that postmaterialism will dimish in importance over the foreseeable future? (165: no, society is becoming more affluent and Inglehart and Maslow are right) Within the Democratic party coalition, who has been the big loser from a concern with postmaterialism? (168-169: the poor and working class)

(2) click on a particular month [“key votes” are usually listed in either November or December of that year.  For example, the “key votes” for 2004 are listed on December 11, 2004.  Sometimes the “key votes” are listed in January of the following year (e.g., “key votes” for 2003 are listed on January 3, 2004)].

Assignment 14 – Dodd and Oppenheimer, pp. 411-445, due read by 5/8

Potential quiz questions include: According to Dodd, what is “puzzling” about the Republican revolution? (412-413: that it occurred at all – 1 – it came at time when Democratic incumbents had great resources to protect themselves – i.e., casework, constituents who depended on programs, etc.; 2 – after winning in 1994, Republicans attacked Congress itself – planting mistrust of a Congress they controlled; 3 – however, despite points 1 & 2, the Republicans managed to stay in power through successive elections and enacted some major policy changes) What does Dodd think of the “great man” or “personalistic perspective”? (414: not that much – we should look for broader forces)  What is the foundation of social choice theory? (417: the quest for personal power by individual legislators leads them to seek power positions and resources within Congress that provide influence over national policymaking)  What is the tension in the social choice theory of Congress? (417: between centralization of power in leaders and decentralizing power to give individual congressmen power and influence) What generates the “cycles of congressional change”? (418-419: over time, the majority party decentralizes control to the point that it has difficulty governing and, hence, becomes vulnerable to the minority party through voter revolt) According to Dodd, what are the limits of social choice theory in explaining the behavior of Republicans as the majority party in Congress? (421: 1 – why at their moment of victory, did the Republicans not follow through and implement real reform, choosing instead to undercut the very centralized leadership that brought them to the dance?; 2 – why did they seek changes, such as term limits and budget constraints, that would limit their own party as the majority party?; 3 – why become the object of public scorn?; 4 – why allow factional problems to undercut their ability to lead?) What is the essence of social structure theory applied to Congress? (422: that Congress’s power struggles and organizational cycles are shaped and altered by the societal conditions within which they occur) What societal shift does Dodd use to discuss congressional change via social structure theory? (422-424: the transition from an industrial society to a post-industrial society) What specific problems did the Democratically controlled Congress fail to adequately handle? (425: soaring deficits, the environment, poverty, crime, and other quality-of-life issues which resulted in growing doubts about the Democratic Congress’s ability to govern) How could we study Congress from the perspective of social learning theory? (428: by becoming aware of the belief systems and learning processes that characterize society across time and by seeing Congress and its parties as participants in societal learning) Why was the leadership of Congress so decentralized during the 1950s? (430: since the late 1930s, except for Social Security and the minimum wage, the U.S. was characterized by a deep resistance to social activism – thus little need for policy innovation) Why did the 1960-80 period produce a greater centralization of leadership power in Congress? (430: new post-industrial demands on government such as civil rights, women’s rights, the environment, etc.) Why were congressional Democrats somewhat resistant to President Clinton? (433: he threatened traditional bureaucratic solutions to problems) When the Republicans took control of Congress, were their policy solutions closer to congressional Democrats or President Clinton? (434: probably Clinton – the Republicans wanted to go further than Clinton in the direction of reducing bureaucracy and more radical entrepreneurial strategies) Does Dodd think Congress can adapt to changing circumstances? (437-442: yes)

